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� Eоот6етEт688 Eо Eт4тLе9 6 $едеD4лL=о7о 74ко=4 от 21 =оO5DO 1995 7. N 170-$� "О5 
8EполL7о64=88 4то<=о9 M=еD788", 6 FелOE Dе4л874F88 пол=о<оG89, уEт4=о6ле==KE подпу=кто< 
5.3.18 пу=кт4 5 �оло6е=8O о $едеD4лL=о9 Eлу65е по Mколо78GеEко<у, теE=оло78GеEко<у 8 
4то<=о<у =4д7оDу, ут6еD6де==о7о поEт4=о6ле=8е< �D468телLEт64  оEE89Eко9 $едеD4F88 от 30 
8NлO 2004 7. N 401, пD8к47K64N: 

1. 'т6еDд8тL пD8л474е<ое Dуко6одEт6о по 5е7оп4E=оEт8 пD8 8EполL7о64=88 4то<=о9 
M=еD788 " еко<е=д4F88 по EоEт46у, EодеD64=8N 8 поDOдку D47D45отк8 о5Jекто6KE доку<е=то6 
по D878GеEко9 74I8те 6 оD74=874F8OE E D4д84F8о==K<8 о5Jект4<8 8 поDOдку уEт4=о6ле=8O 
уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE о5Jекто6". 

2. �D87=4тL утD4т86H8<8 E8лу пD8к47K $едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу от 28 8N=O 2016 7. N 271 "О5 ут6еD6де=88 Dуко6одEт64 по 
5е7оп4E=оEт8 пD8 8EполL7о64=88 4то<=о9 M=еD788 " еко<е=д4F88 по EоEт46у 8 EодеD64=8N 
о5Jекто6KE доку<е=то6 по D878GеEко9 74I8те D4д8о4кт86=KE 6еIеEт6, D4д84F8о==KE 
8EтоG=8ко6 8 пу=кто6 ED4=е=8O" 8 от 10 октO5DO 2017 7. N 417 "О5 ут6еD6де=88 Dуко6одEт64 по 
5е7оп4E=оEт8 пD8 8EполL7о64=88 4то<=о9 M=еD788 "�оло6е=8е по уEт4=о6ле=8N уDо6=е9 
D878GеEко9 74I8тK D4д84F8о==KE о5Jекто6". 
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I. О5I8е поло6е=8O 

 

1.  уко6одEт6о по 5е7оп4E=оEт8 пD8 8EполL7о64=88 4то<=о9 M=еD788 " еко<е=д4F88 по 
EоEт46у, EодеD64=8N 8 поDOдку D47D45отк8 о5Jекто6KE доку<е=то6 по D878GеEко9 74I8те 6 
оD74=874F8OE E D4д84F8о==K<8 о5Jект4<8 8 поDOдку уEт4=о6ле=8O уDо6=е9 D878GеEко9 74I8тK 
D4д84F8о==KE о5Jекто6" ( �-115-24) (д4лее -  уко6одEт6о по 5е7оп4E=оEт8) D47D45от4=о 6 FелOE 
Eоде9Eт68O Eо5лNде=8N тDе5о64=89 7л46K III 8 пу=кт4 27 DедеD4лL=KE =оD< 8 пD468л 6 о5л4Eт8 
8EполL7о64=8O 4то<=о9 M=еD788 "�D468л4 D878GеEко9 74I8тK D4д8о4кт86=KE 6еIеEт6, 
D4д84F8о==KE 8EтоG=8ко6, отделL=KE OдеD=KE <4теD84ло6 8 пу=кто6 ED4=е=8O" (��-034-23), 

ут6еD6де==KE пD8к47о<  оEтеE=4д7оD4 от 23 467уEт4 2023 7. N 302 (74Dе78EтD8Dо64= 
�8=8EтеDEт6о< NEт8F88  оEE89Eко9 $едеD4F88 20 =оO5DO 2023 7., Dе78EтD4F8о==K9 N 76022) 
(д4лее - ��-034-23). 

2.  уко6одEт6о по 5е7оп4E=оEт8 EодеD68т Dеко<е=д4F88 по: 

EоEт46у, EодеD64=8N 8 поDOдку D47D45отк8 доку<е=то6 по $� (пеDеGе=L EокD4Iе=89, 
8EполL7о64==KE 6  уко6одEт6е по 5е7оп4E=оEт8, пD86еде= 6 пD8ло6е=88 N 1), подле64I8E 
D47D45отке (=4л8G8N) 6 оD74=874F88 (о5оEо5ле==о< подD47деле=88), оEуIеEт6лONIе9 
MкEплу4т4F8N  � 8 (8л8) �%, о5D4Iе=8е E  �, Я� (д4лее - о5Jекто6Kе доку<е=тK по $�); 

уEт4=о6ле=8N уDо6=е9 $� длO о5Jекто6 (по<еIе=89, EооDу6е=89, 7д4=89), 6 котоDKE 
оEуIеEт6лOетEO о5D4Iе=8е E  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О <1>, л85о D47<еI4етEO 8 (8л8) 
MкEплу4т8DуетEO  � 8л8 �% (д4лее - D4д84F8о==Kе о5JектK). 

-------------------------------- 

<1> �574F 6тоDо9 пу=кт4 76 �D468л D878GеEко9 74I8тK OдеD=KE <4теD84ло6, OдеD=KE 
уEт4=о6ок 8 пу=кто6 ED4=е=8O OдеD=KE <4теD84ло6, ут6еD6де==KE поEт4=о6ле=8е< 
�D468телLEт64  оEE89Eко9 $едеD4F88 от 19 8NлO 2007 7. N 456, �оло6е=8е о5 оD74=874F88 
E8Eте<K 7оEуд4DEт6е==о7о уGет4 8 ко=тDолO D4д8о4кт86=KE 6еIеEт6 8 D4д8о4кт86=KE отEодо6, 
ут6еD6де==ое поEт4=о6ле=8е< �D468телLEт64  оEE89Eко9 $едеD4F88 от 15 8N=O 2016 7. N 542. 
 

3. �е9Eт68е  уко6одEт64 по 5е7оп4E=оEт8 D4EпDоEтD4=OетEO =4 о5еEпеGе=8е $�  �, Я�, 
уG8тK64е<KE 6 !�'К  � 8  �О,  �, �%. 

4.  уко6одEт6о по 5е7оп4E=оEт8 =е D4EпDоEтD4=ONтEO =4 о5еEпеGе=8е $�: 

Я�, уG8тK64е<KE 6 !�'К Я� <2>, пу=кто6 ED4=е=8O Я�; 

-------------------------------- 

<2> �оло6е=8е о E8Eте<е 7оEуд4DEт6е==о7о уGет4 8 ко=тDолO OдеD=KE <4теD84ло6, 
ут6еD6де==ое поEт4=о6ле=8е< �D468телLEт64  оEE89Eко9 $едеD4F88 от 6 <4O 2008 7. N 352. 
 

 �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О, пD8 8E тD4=EпоDт8Dо64=88 по путO< о5Iе7о 
полL7о64=8O (74 8EклNGе=8е< 6Dе<е==о7о (тD4=78т=о7о) ED4=е=8O 5олее тDеE Eуток 6 пDоFеEEе 
пеDе6о7к8). 

5.  уко6одEт6о по 5е7оп4E=оEт8 Dеко<е=до64=о длO пD8<е=е=8O MкEплу4т8DуNI8<8 
оD74=874F8O<8, оD74=874F8O<8, оEуIеEт6лONI8<8 деOтелL=оEтL по MкEплу4т4F88  �, 
EодеD64I8E 6 E6ое< EоEт46е толLко D4д8о=укл8д=Kе 8EтоG=8к8 Gет6еDто9 8 пOто9 к4те7оD89 
D4д84F8о==о9 оп4E=оEт8, оD74=874F8O<8, 6Kпол=ONI8<8 D45отK 8 пDедоEт46лONI8<8 уEлу78 
длO MкEплу4т8DуNI8E оD74=874F89, 8 (8л8) 8E о5оEо5ле==K<8 подD47деле=8O<8 (д4лее - 

оD74=874F8O). 
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II. О5I8е Dеко<е=д4F88 

 

6. О5Jекто6Kе доку<е=тK по $� Dеко<е=дуетEO D47D454тK64тL к4к G4EтL оD74=874F8о==KE 
<еDопD8Oт89 $�, оEуIеEт6лOе<KE 6 оD74=874F88. 

7. !оEт46 8 EодеD64=8O о5Jекто6KE доку<е=то6 по $� Dеко<е=дуетEO опDеделOтL поEле 
уEт4=о6ле=8O уDо6=е9 $� D4д84F8о==KE о5Jекто6 ко<8EE8е9 по уEт4=о6ле=8N уDо6=е9 $� (д4лее 
- ко<8EE8O), =47=4G4е<о9 6 Eоот6етEт688 E тDе5о64=8O<8 пу=кт4 17 ��-034-23. 

8. �4 оE=о6е E6еде=89, Eо5D4==KE ко<8EE8е9, Dеко<е=дуетEO уEт4=о68тL пеDеGе=L 8 
7D4=8FK D4д84F8о==KE о5Jекто6, =4EодOI8EEO 6 оD74=874F88 (Dеко<е=дуетEO 6клNG4тL 6 
7D4=8FK D4д84F8о==KE о5Jекто6 <еEт4, 6 котоDKE оEуIеEт6лOетEO о5D4Iе=8е E  �, Я�, 
уG8тK64е<K<8 6 !�'К  � 8  �О, л85о D47<еI4етEO 8 (8л8) MкEплу4т8DуетEO  � 8л8 �%). 

9. � EлуG4е еEл8 6 оD74=874F88 пDедуE<отDе=о 6Kделе=8е �О�, то ко<8EE88 Dеко<е=дуетEO 
т4к6е уEт4=о68тL пеDеGе=L 8 7D4=8FK �О�. 

10. �еDеGе=L 8 7D4=8FK D4д84F8о==KE о5Jекто6 8 �О�, еEл8 о=8 пDедуE<отDе=K, 
Dеко<е=дуетEO оDоD<лOтL доку<е=т4<8, ут6еD6де==K<8 Dуко6од8теле< оD74=874F88 8л8 
л8Fо<, 8< упол=о<оGе==K<. 

11. 'Eт4=о6ле=8е уDо6=е9 $� D4д84F8о==KE о5Jекто6 Dеко<е=дуетEO оEуIеEт6лOтL поEле 
опDеделе=8O пеDеG=O 8 7D4=8F D4д84F8о==KE о5Jекто6. 
 

III. �оDOдок уEт4=о6ле=8O уDо6=е9 D878GеEко9 74I8тK 

D4д84F8о==KE о5Jекто6 

 

12.  45отK по уEт4=о6ле=8N уDо6=е9 $� D4д84F8о==KE о5Jекто6, 6 Eоот6етEт688 E пу=кто< 
23 ��-034-23, пDо6одOтEO 6 EледуNI8E EлуG4OE: 

пD8 Eо7д4=88 E8Eте<K D878GеEко9 74I8тK (д4лее - !$�); 

пD8 Eо7д4=88 (6Kделе=88) =о6KE D4д84F8о==KE о5Jекто6; 

пD8 66оде 6 MкEплу4т4F8N =о6KE <о58лL=KE  �. 

� EлуG4OE 6KO6ле=8O =еEоот6етEт68O уEт4=о6ле==KE уDо6=е9 $� D4д84F8о==KE о5Jекто6 по 
Dе7улLт4т4< 4=4л874 Eоот6етEт68O пеDеE<отD уDо6=е9 $� D4д84F8о==KE о5Jекто6 Dеко<е=дуетEO 
пDо6од8тL 6 поDOдке, пDедуE<отDе==о< длO уEт4=о6ле=8O уDо6=е9 $� 6 Eоот6етEт688 E пу=кт4<8 
17 - 20 ��-034-23. 

�D8 пеDеE<отDе уDо6=е9 $� D4д84F8о==KE о5Jекто6 Dеко<е=дуетEO уG8тK64тL D4EGет=уN 
4кт86=оEтL оE=о6=KE D4д8о=укл8до6 E уGето< пеD8од4 полуD4Eп4д4, 74 8EклNGе=8е< � �, у 
котоDKE =е 8Eтек =47=4Gе==K9 EDок Eлу65K. 

13.  еко<е=дуетEO, Gто5K к4=д8д4туD4 Dуко6од8телO ко<8EE88 по уEт4=о6ле=8N уDо6=е9 
$�, ее EоEт46, 74д4G8 8 пл4= (пDо7D4<<4) D45отK ко<8EE88, уEт4=46л864NI89 EDок8 6Kпол=е=8O 
D45от, ут6еD6д4л8EL Dуко6од8теле< оD74=874F88. 

14.  еко<е=дуетEO, Gто5K оE=о6=K<8 Mт4п4<8 D45отK ко<8EE88 5Kл8: 

E5оD 8EEод=KE д4==KE длO уEт4=о6ле=8O пеDеG=O 8 7D4=8F D4д84F8о==KE о5Jекто6 6 
оD74=874F88; 

под7ото6к4 к ут6еD6де=8N Dуко6од8теле< оD74=874F88 8л8 л8Fо<, 8< упол=о<оGе==K<, 
доку<е=т4, опDеделONIе7о пеDеGе=L 8 7D4=8FK D4д84F8о==KE о5Jекто6, =4EодOI8EEO 6 
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оD74=874F88; 

E5оD 8EEод=KE д4==KE длO уEт4=о6ле=8O уDо6=е9 $� D4д84F8о==KE о5Jекто6: 

к4те7оD8Dо64=8е MкEплу4т8Dуе<KE =4 D4д84F8о==KE о5Jект4E  �, Я�, уG8тK64е<KE 6 !�'К 
 � 8  �О, <о58лL=KE  � по D4д84F8о==о9 оп4E=оEт8; 

уEт4=о6ле=8е уDо6=е9 $� D4д84F8о==KE о5Jекто6; 

под7ото6к4 к ут6еD6де=8N Dуко6од8теле< оD74=874F88 8л8 л8Fо<, 8< упол=о<оGе==K<, 
доку<е=т4, уEт4=46л864NIе7о уDо6=8 $� D4д84F8о==KE о5Jекто6. 

15. � к4GеEт6е 8EEод=KE д4==KE длO уEт4=о6ле=8O уDо6=е9 $� D4д84F8о==KE о5Jекто6 
Dеко<е=дуетEO 8EполL7о64тL E6еде=8O, пD86еде==Kе 6 EледуNI8E доку<е=т4E: 

опDеделONI8E пеDеGе=L 8 7D4=8FK D4д84F8о==KE о5Jекто6 оD74=874F88; 

п4EпоDт4E =4 D4д8о=укл8д=Kе 8EтоG=8к8; 

п4EпоDт4E =4 уп4ко6к8, EодеD64I8е  �, Я�, уG8тK64е<Kе 6 !�'К  � 8  �О; 

пDоект=о9, теE=8GеEко9 8 MкEплу4т4F8о==о9 доку<е=т4F88 =4  � 8 уп4ко6к8. 

16. �о DеHе=8N ко<8EE88 <о7ут D4EE<4тD864тLEO допол=8телL=Kе E4D4ктеD8Eт8к8 8 
оEо5е==оEт8 D4д84F8о==о7о о5Jект4. 

17. �D8 опDеделе=88 уDо6=е9 $� пу=кто6 74EоDо=е=8O D4д8о4кт86=KE отEодо6 4кт86=оEтL 
D4д8о=укл8до6 (Eо6окуп=уN 4кт86=оEтL), EодеD64I8EEO 6 D4д8о4кт86=KE отEод4E, FелеEоо5D47=о 
D4EEG8тK64тL 5е7 уGет4 D4д8о4кт86=KE отEодо6, D47<еIе==KE 6 пу=кт4E 74EоDо=е=8O 5е7 
6о7<о6=оEт8 8E 876леGе=8O. �D8 Mто< 7D4=8FK D4д84F8о==KE о5Jекто6 Dеко<е=дуетEO 
опDеделOтL по пеD8<етDу п468лLо=о6, 7д4=89 (EооDу6е=89), =4EодOI8EEO =4 по6еDE=оEт8 7е<л8, 
7де <о7ут =4Eод8тLEO  �,  � 8  �О до 8E 74EоDо=е=8O. 

18. � EлуG4е еEл8 MкEплу4т4F8O E4<о7о пу=кт4 74EоDо=е=8O D4д8о4кт86=KE отEодо6 =е 
оEуIеEт6лOетEO (пу=кт 74EоDо=е=8O 6 Eт4д88 74кDKт8O), то Dуко6од8телN оD74=874F88 8л8 л8Fу, 
8< упол=о<оGе==о<у, Dеко<е=дуетEO уEт4=46л864тL уDо6е=L $� =е =86е уDо6=O "�". 

19. � EлуG4е еEл8 D4д84F8о==K9 о5Jект =4Eод8тEO =4 теDD8тоD88 OдеD=о7о о5Jект4 8 
MкEплу4т8DуNI4O оD74=874F8O OдеD=о7о о5Jект4 =е оEуIеEт6лOет MкEплу4т4F8N D4д84F8о==о7о 
о5Jект4, то $� D4д84F8о==о7о о5Jект4 допуEк4етEO оEуIеEт6лOтL 6 D4<к4E !$� OдеD=о7о о5Jект4. 

20. � EлуG4е еEл8 =4 теDD8тоD88 D4д84F8о==о7о о5Jект4 оEуIеEт6лOетEO о5D4Iе=8е толLко 
� �, уDо6е=L $� т4ко7о D4д84F8о==о7о о5Jект4 Dеко<е=дуетEO уEт4=46л864тL 6 поDOдке, 
пD86еде==о< 6 пу=кте 1 пD8ло6е=8O N 2 к  уко6одEт6у по 5е7оп4E=оEт8. 

21. � EлуG4е еEл8 =4 теDD8тоD88 D4д84F8о==о7о о5Jект4 оEуIеEт6лOетEO о5D4Iе=8е E  �, 
Я�, уG8тK64е<K<8 6 !�'К  � 8  �О, уDо6е=L $� т4ко7о D4д84F8о==о7о о5Jект4 Dеко<е=дуетEO 
уEт4=46л864тL 6 поDOдке, пD86еде==о< 6 пу=кте 2 пD8ло6е=8O N 2 к  уко6одEт6у по 5е7оп4E=оEт8. 

22. К4те7оD8Dо64=8е Eо6окуп=о9 4кт86=оEт8 (E<еE8) D4д8о=укл8до6 Dеко<е=дуетEO 
оEуIеEт6лOтL 6 поDOдке, пD86еде==о< 6 пу=кте 3 пD8ло6е=8O N 2 к  уко6одEт6у по 5е7оп4E=оEт8. 

23. � EлуG4е ко7д4 о5D4Iе=8е E <о58лL=K<8  � оEуIеEт6лOетEO 74 пDедел4<8 
D4д84F8о==о7о о5Jект4 (�О�), уDо6е=L $� т4ко7о <о58лL=о7о  � Dеко<е=дуетEO уEт4=46л864тL 6 
поDOдке, пD86еде==о< 6 пу=кте 4 пD8ло6е=8O N 2 к  уко6одEт6у по 5е7оп4E=оEт8. 

24. � D4EGет4E Dеко<е=дуетEO 8EполL7о64тL 7=4Gе=8O A2 - 6ел8G8= длO D4д8о=укл8до6. 



�=4Gе=8O A2 - 6ел8G8= отделL=KE D4д8о=укл8до6 пD86еде=K 6 пD8ло6е=88 N 3 к  уко6одEт6у по 
5е7оп4E=оEт8. 

25.  4EGетK, =ео5Eод8<Kе длO уEт4=о6ле=8O уDо6=е9 $� длO D47л8G=KE D4д84F8о==KE 
о5Jекто6, Dеко<е=дуетEO оEуIеEт6лOтL 4=4ло78G=о D4EGет4<, пD86еде==K< 6 пD8ло6е=88 N 4 к 
 уко6одEт6у по 5е7оп4E=оEт8. 

26.  е7улLт4тK D45отK ко<8EE88 Dеко<е=дуетEO оDоD<лOтL DеHе=8е< по уEт4=о6ле=8N 
уDо6=е9 $� D4д84F8о==KE о5Jекто6, 6клNG4O уDо6=8 $� длO <о58лL=KE  �, ут6еD6де==K< 
Dуко6од8теле< оD74=874F88. 

27. � ко<плект доку<е=то6, уEт4=46л864NI8E уDо6е=L $� D4д84F8о==о7о о5Jект4 8 
<о58лL=KE  �, Dеко<е=дуетEO 6клNG4тL: 

пD8к47 о =47=4Gе=88 ко<8EE88 по уEт4=о6ле=8N уDо6=O $� D4д84F8о==о7о о5Jект4; 

4кт D45отK ко<8EE88 по уEт4=о6ле=8N уDо6=O $� D4д84F8о==о7о о5Jект4, ут6еD6де==K9 
Dуко6од8теле< оD74=874F88; 

DеHе=8е о5 уEт4=о6ле=88 уDо6=O $� D4д84F8о==о<у о5Jекту, ут6еD6де==ое 
Dуко6од8теле< оD74=874F88. 
 

IV.  еко<е=д4F88 по EоEт46у 8 EодеD64=8N о5Jекто6KE 

доку<е=то6 по D878GеEко9 74I8те 

 

28. �еDеGе=L о5Jекто6KE доку<е=то6 по $� <3> длO ко=кDет=о9 оD74=874F88 Dеко<е=дуетEO 
утоG=OтL поEле уEт4=о6ле=8O уDо6=е9 $� D4д84F8о==KE о5Jекто6. 

-------------------------------- 

<3> �D8ло6е=8е N 6 к ��-034-23. 

 

29. ОтделL=Kе о5Jекто6Kе доку<е=тK по $� <о7ут 5KтL о5Jед8=е=K 8 6клNGе=K 6 68де 
D47дело6 6 од8= о5Jекто6K9 доку<е=т по $�. 

30. �4 OдеD=о< о5Jекте доку<е=тK по $�  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О,  � 8 �% 
Dеко<е=дуетEO D47D454тK64тL 6 68де отделL=KE доку<е=то6 8л8 6 68де D47дело6 доку<е=то6 по 
$� Я�, OдеD=KE уEт4=о6ок 8 �% Я�. 

31. �D8 D47D45отке о5Jекто6KE доку<е=то6 оD74=874F8O< Dеко<е=дуетEO 8EполL7о64тL 
DоD<K доку<е=то6, уEт4=о6ле==KE тDе5о64=8O<8 оD74=4 упD46ле=8O 8EполL7о64=8е< 4то<=о9 
M=еD78е9, 6 6еде=88 котоDо7о =4Eод8тEO оD74=874F8O. 

32. � пD8ло6е=8OE N 5 - 24  уко6одEт64 по 5е7оп4E=оEт8 пD86еде=K Dеко<е=д4F88 по 
под7ото6ке 8 EодеD64=8N EледуNI8E доку<е=то6: 

пеDеG=O л8F, 8<еNI8E D47DеHе=8е =4 пDо6еде=8е D45от E  � 8 Я�, уG8тK64е<K<8 6 !�'К 
 � 8  �О,  �, 6 �%; 

8=EтDукF89 по E4<ооED4=е D4д84F8о==KE о5Jекто6; 

доку<е=т4, опDеделONIе7о л8F, от6етEт6е==KE 74 $� 6 оD74=874F88 8 =4 D4д84F8о==KE 
о5Jект4E; 

доку<е=т4, опDеделONIе7о пеDеGе=L 8 7D4=8FK D4д84F8о==KE о5Jекто6, =4EодOI8EEO 6 
оD74=874F88; 
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6уD=4л4 уGет4 <еEто=4Eо6де=8O <о58лL=KE  �; 

дол6=оEт=KE 8=EтDукF89, Dе7л4<е=то6, опDеделONI8E дол6=оEт=Kе о5O74==оEт8 
пеDEо=4л4 $�; 

6уD=4л4 уGет4 6Kд4G8 8 пD8е<4 клNGе9 от 7д4=89, по<еIе=89 E  � 8 Я�, уG8тK64е<K<8 6 
!�'К  � 8  �О,  �, �%; 

доку<е=т4, уEт4=46л864NIе7о к4те7оD8N к46до7о � �; 

доку<е=т4, уEт4=46л864NIе7о уDо6=8 $� D4д84F8о==KE о5Jекто6; 

пл4=4 $�; 

пл4=4 6748<оде9Eт68O Dуко6одEт64 оD74=874F88 E E8л4<8 оED4=K 6 Hт4т=KE 8 
GDе76KG49=KE E8ту4F8OE; 

поло6е=8O о D47DеH8телL=о9 E8Eте<е доEтуп4 D45от=8ко6 (пеDEо=4л4), ко<4=д8Dо64==KE 
л8F, поEет8теле9 8 тD4=EпоDт=KE EDедEт6 =4 D4д84F8о==Kе о5JектK; 

8=EтDукF88 о пDопуEк=о< Dе68<е; 

поDOдк4 пD8<е=е=8O пD468л4 д6уE л8F; 

6уD=4л4 уGет4 =еE4=кF8о=8Dо64==KE де9Eт689 =4DуH8теле9; 

4кт4 пD8е<к8 ко<плекE4 8=6е=еD=о-теE=8GеEк8E EDедEт6 $�; 

пл4=4 пDо6еDок теE=8GеEко7о EоEтоO=8O 8 D45отоEпоEо5=оEт8 ко<плекE4 8=6е=еD=о-

теE=8GеEк8E EDедEт6 $�; 

пл4=4-7D4D8к4 теE=8GеEко7о о5Eлу6864=8O ко<плекE4 8=6е=еD=о-теE=8GеEк8E EDедEт6 $�; 

доку<е=т4, опDеделONIе7о пеDеGе=L 8 7D4=8FK 7о= о7D4=8Gе==о7о доEтуп4 6 оD74=874F88; 

поло6е=8O о Eлу65е 5е7оп4E=оEт8. 

33. � EлуG4е 6KO6ле=8O =еE4=кF8о=8Dо64==KE де9Eт689 Dуко6од8телO< оD74=874F89, 
MкEплу4т8DуNI8E D4д84F8о==Kе о5JектK E уDо6=е< $� "�", допуEк4етEO оEуIеEт6лOтL 
8=DоD<8Dо64=8е оD74=4 упD46ле=8O 8EполL7о64=8е< 4то<=о9 M=еD788, оD74=4 7оEуд4DEт6е==о7о 
Dе7ул8Dо64=8O 5е7оп4E=оEт8, теDD8тоD84лL=KE оD74=о6 5е7оп4E=оEт8 8 теDD8тоD84лL=KE оD74=о6 
�8=8EтеDEт64 6=утDе==8E дел  оEE89Eко9 $едеD4F88 по <еEту =4Eо6де=8O D4д84F8о==о7о 
о5Jект4, <еEт=KE оD74=о6 6л4Eт8 5е7 D47D45отк8 пл4=4 $� 8 пл4=4 6748<оде9Eт68O Dуко6одEт64 
оD74=874F88 E E8л4<8 оED4=K 6 Hт4т=KE 8 GDе76KG49=KE E8ту4F8OE 6 о5Jе<е 8=DоD<4F88 8 6 
EDок8, уEт4=о6ле==Kе 7л46о9 VI ��-034-23. 

 

V.  еко<е=д4F88 к EоEт46у 8 EодеD64=8N доку<е=то6 

по D878GеEко9 74I8те пD8 6=утD8о5Jекто6KE пеDе6о7к4E 

D4д8о4кт86=KE 6еIеEт6, OдеD=KE <4теD84ло6, уG8тK64е<KE 

6 !8Eте<е 7оEуд4DEт6е==о7о уGет4 8 ко=тDолO D4д8о4кт86=KE 

6еIеEт6 8 D4д8о4кт86=KE отEодо6, D4д84F8о==KE 8EтоG=8ко6 

 

34. ЭкEплу4т8DуNIе9 оD74=874F88 8л8 оD74=874F88, 6Kпол=ONIе9 D45отK 8 
пDедоEт46лONIе9 уEлу78 MкEплу4т8DуNIе9 оD74=874F88 по 6=утD8о5Jекто6о9 пеDе6о7ке, 
Dеко<е=дуетEO D47D45от4тL Dе7л4<е=т по 6=утD8о5Jекто6о9 пеDе6о7ке  �, Я�, уG8тK64е<KE 6 
!�'К  � 8  �О, 8  �. � тDе5о64=8O к EоEт46у 8 EодеD64=8N Dе7л4<е=т4 6 G4Eт8 о5еEпеGе=8O $� 
Dеко<е=дуетEO 6клNG4тL: 
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о5O74==оEт8 дол6=оEт=KE л8F, =4 котоDKE 6о7л474етEO Dуко6одEт6о по о5еEпеGе=8N $� 8 
от6етEт6е==оEтL 74 о5еEпеGе=8е 5е7оп4E=оEт8 пD8 6=утD8о5Jекто6о9 пеDе6о7ке  � 8 (8л8)  �; 

<4DHDутK 6=утD8о5Jекто6о9 пеDе6о7к8  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О, 8  � по 
теDD8тоD88, Eо7л4Eо64==Kе Eо Eлу65о9 5е7оп4E=оEт8; 

пD468л4 8 оE=о6=Kе тDе5о64=8O к $� пD8 6=утD8о5Jекто6о9 пеDе6о7ке  �, Я�, уG8тK64е<KE 
6 !�'К  � 8  �О 8  � D47л8G=KE к4те7оD89 по D4д84F8о==о9 оп4E=оEт8, 6клNG4O тDе5о64=8O по 8E 
уGету 8 ко=тDолN; 

поDOдок 6Kпол=е=8O ко=тDолL=KE <еDопD8Oт89 по о5еEпеGе=8N $� пD8 6=утD8о5Jекто6о9 
пеDе6о7ке  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О, 8  �. 

35. �о DеHе=8N Dуко6од8телO оD74=874F88 Dеко<е=дуетEO D47D454тK64тL EпеF84лL=Kе 
<еDK $� 8 6клNG4тL 8E 6 EоEт46 8=EтDукF88 по де9Eт68O< пеDEо=4л4 пD8 464D8OE пD8 
6=утD8о5Jекто6о9 пеDе6о7ке  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О 8  �, л85о D47D454тK64тL к4к 
отделL=K9 доку<е=т, котоDK9 дол6е= EодеD64тL: 

пеDеGе=L 6о7<о6=KE 464D89 пD8 6=утD8о5Jекто6о9 пеDе6о7ке  �, Я�, уG8тK64е<KE 6 !�'К 
 � 8  �О 8  �; 

пD87=4к8 6о7=8к=о6е=8O 464D89; 

<еDK по $� пD8 6о7=8к=о6е=88 8 л8к68д4F88 поEледEт689 464D89. 
 

 

 

 

 

�D8ло6е=8е N 1 

к Dуко6одEт6у по 5е7оп4E=оEт8 

пD8 8EполL7о64=88 4то<=о9 M=еD788 

" еко<е=д4F88 по EоEт46у, EодеD64=8N 

8 поDOдку D47D45отк8 о5Jекто6KE 

доку<е=то6 по D878GеEко9 74I8те 

6 оD74=874F8OE E D4д84F8о==K<8 

о5Jект4<8 8 поDOдку уEт4=о6ле=8O 

уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 

о5Jекто6", ут6еD6де==о<у пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 4 4пDелO 2024 7. N 121 

 

�� �'��, !ОК �)���� 

 

�О� - 7о=4 о7D4=8Gе==о7о доEтуп4 

� � - 74кDKтK9 D4д8о=укл8д=K9 8EтоG=8к 

О� � - отD45от46H89 74кDKтK9 D4д8о=укл8д=K9 8EтоG=8к 

�% - пу=ктK ED4=е=8O D4д8о4кт86=KE 6еIеEт6, пу=ктK ED4=е=8O, ED4=8л8I4 
D4д8о4кт86=KE отEодо6 

 � - D4д8о4кт86=Kе 6еIеEт64 (6клNG4O =е подле64I8е д4лL=е9Hе<у 



8EполL7о64=8N 6еIеEт64) 

 � - D4д84F8о==K9 8EтоG=8к, 8<еNI89 D4д8о=укл8д=K9 8EтоG=8к E  � 8 (8л8) 
Я� 

!�'К  � 8 
 �О 

- !8Eте<4 7оEуд4DEт6е==о7о уGет4 8 ко=тDолO D4д8о4кт86=KE 6еIеEт6 8 
D4д8о4кт86=KE отEодо6 

!�'К Я�  !8Eте<4 7оEуд4DEт6е==о7о уGет4 8 ко=тDолO OдеD=KE <4теD84ло6 

!$� - E8Eте<4 D878GеEко9 74I8тK 

%& О - ED4=8л8Iе т6еDдKE D4д8о4кт86=KE отEодо6 

$� - D878GеEк4O 74I8т4 

Я� - OдеD=Kе <4теD84лK 

 

 

 

 

 

�D8ло6е=8е N 2 

к Dуко6одEт6у по 5е7оп4E=оEт8 

пD8 8EполL7о64=88 4то<=о9 M=еD788 

" еко<е=д4F88 по EоEт46у, EодеD64=8N 

8 поDOдку D47D45отк8 о5Jекто6KE 

доку<е=то6 по D878GеEко9 74I8те 

6 оD74=874F8OE E D4д84F8о==K<8 

о5Jект4<8 8 поDOдку уEт4=о6ле=8O 

уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 

о5Jекто6", ут6еD6де==о<у пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 4 4пDелO 2024 7. N 121 

 

 �КО����'��+� �О /�ОК 

'!&��О�Л���/ ' О��/ $���'�!КО� ��)�&+  ����&�О��О�О О�*�К&� 

 

1. �D8 уEт4=о6ле=88 к4те7оD88 � � по D4д84F8о==о9 оп4E=оEт8 Dеко<е=дуетEO 
8EполL7о64тL E6еде=8O, ук474==Kе 877ото68теле< 6 п4EпоDте (EеDт8D8к4те) =4 � � Eо7л4E=о 
<етод8ке к4те7оD8Dо64=8O � �, пD86еде==о9 6 пD8ло6е=88 N 2 к DедеD4лL=K< =оD<4< 8 
пD468л4< 6 о5л4Eт8 8EполL7о64=8O 4то<=о9 M=еD788 "ОE=о6=Kе пD468л4 уGет4 8 ко=тDолO 
D4д8о4кт86=KE 6еIеEт6 8 D4д8о4кт86=KE отEодо6 6 оD74=874F88" (��-067-16), ут6еD6де==K< 
пD8к47о<  оEтеE=4д7оD4 от 28 =оO5DO 2016 7. N 503 (74Dе78EтD8Dо64= �8=NEто<  оEE88 21 
дек45DO 2016 7., Dе78EтD4F8о==K9 N 44843) (д4лее - ��-067-16). �Eл8 к4те7оD8O � � по 
D4д84F8о==о9 оп4E=оEт8 =е 5Kл4 уEт4=о6ле=4 877ото68теле<, то ее уEт4=46л864ет оD74=874F8O - 
6л4делеF � � 6 п4EпоDте (EеDт8D8к4те) л85о 6 отделL=о< доку<е=те 6 поDOдке, опDеделе==о< 
пу=кто< 10 ��-067-16. 

�лO опDеделе=8O к4те7оD88 оп4E=оEт8 Eо6окуп=оEт8 � �, 877ото6ле==KE =4 оE=о6е 
D47л8G=KE D4д8о=укл8до6, Dеко<е=дуетEO EледуNI89 поDOдок де9Eт689: 

опDедел8тL 4кт86=оEтL к46до7о � � 8 D-6ел8G8=K длO к46до7о D4д8о=укл8д4 6 
Eоот6етEт688 E 8EEод=K<8 д4==K<8 длO к4те7оD8Dо64=8O; 
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6KG8Eл8тL 47Dе78Dо64==ое A/D-от=оHе=8е 6 Eоот6етEт688 E DоD<уло9: 
 

 

 

7де Ai,n - 4кт86=оEтL n-7о D4д8о=укл8д4 6 i-< � �; 

Dn - 7=4Gе=8е D-6ел8G8=K длO n-7о D4д8о=укл8д4; 

опDедел8тL =4 оE=о6е 6KG8Eле==о7о 47Dе78Dо64==о7о A/D-от=оHе=8O од=у 87 пOт8 
ук474==KE 6KHе "D4EGет=KE" к4те7оD89 оп4E=оEт8 Eо6окуп=оEт8 � �. Ч8Eле==Kе 7=4Gе=8O 
к4те7оD89 8 уDо6=8 $� D4д84F8о==о7о о5Jект4, =4 котоDо< =4EодOтEO толLко � �, пD86еде=K 6 
т45л8Fе N 1. 
 

&45л8F4 N 1 

 

'Dо6е=L D878GеEко9 74I8тK D4д84F8о==о7о о5Jект4, =4 котоDо< 

=4EодOтEO толLко 74кDKтKе D4д8о=укл8д=Kе 8EтоG=8к8 

 

К4те7оD8O 74кDKто7о 
D4д8о=укл8д=о7о 8EтоG=8к4 
(Eо6окуп=оEт8 74кDKтKE 

D4д8о=укл8д=KE 8EтоG=8ко6) по 
D4д84F8о==о9 оп4E=оEт8 

 4д84F8о==4O оп4E=оEтL 
длO Gело6ек4 

&8п 
D4д84F8о==о7о 
8EтоG=8к4: 

<о58лL=K9/Eт4F
8о=4D=K9 

'Dо6е=L 
D878GеEко9 
74I8тK 

D4д84F8о==о7
о о5Jект4 

К4те7оD8O 1: 
A/D  1 000 

ЧDе76KG49=о оп4E=о длO 
Gело6ек4 

КD8теD89 =е 
пD8<е=OетEO 

� 

К4те7оD8O 2: 
10  A/D < 1 000 

ОGе=L оп4E=о длO 
Gело6ек4 

�о58лL=K9 � 

!т4F8о=4D=K9 � 

К4те7оD8O 3: 
1  A/D < 10 

Оп4E=о длO Gело6ек4 
КD8теD89 =е 
пD8<е=OетEO 

� 

К4те7оD88 4 8 5: 
A/D < 1 

Оп4E=оEтL длO Gело6ек4 
<4ло6еDоOт=4 

(оGе=L <4ло6еDоOт=4) 

КD8теD89 =е 
пD8<е=OетEO 

� 

 

2. �D8 к4те7оD8Dо64=88 по D4д84F8о==о9 оп4E=оEт8  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О, 
кD8теD8е< 8E от=еEе=8O к од=о9 87 уEт4=о6ле==KE к4те7оD89, Eо7л4E=о пD8ло6е=8N N 4 к ��-034-

23, Dеко<е=дуетEO 8EполL7о64тL 7=4Gе=8е 5е7D47<еD=о7о пок474телO, =47K64е<о7о A/A2-

от=оHе=8е<. �=4Gе=8е A/A2-от=оHе=8O Dеко<е=дуетEO 6KG8EлOтL путе< деле=8O 4кт86=оEт8 A 
<4теD8=Eко7о D4д8о=укл8д4 =4 Eоот6етEт6уNIее 7=4Gе=8е A2-6ел8G8=K длO д4==о7о 
D4д8о=укл8д4. !6еде=8O о5 A2-6ел8G8=4E отделL=KE D4д8о=укл8до6 пD86еде=K 6 пD8ло6е=88 N 
3 к  уко6одEт6у по 5е7оп4E=оEт8. 

�=4Gе=8O A/A2-от=оHе=89 Dеко<е=дуетEO 8EполL7о64тL длO от=еEе=8O  �, Я�, уG8тK64е<KE 
6 !�'К  � 8  �О, к D4EGет=K< к4те7оD8O<, по76олONI8< уEт4=46л864тL уDо6е=L $�. 

3. �лO к4те7оD8Dо64=8O Eо6окуп=о9 4кт86=оEт8 (E<еE8) D4д8о=укл8до6 6  �, Я�, 
уG8тK64е<KE 6 !�'К  � 8  �О, Dеко<е=дуетEO 8EполL7о64тL: 

,а7ре7ир>6а==>е / ->т=>ше=ие ,i ni

n

n

A
A D

D
 






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п4EпоDт=уN 4кт86=оEтL (4кт86=оEтL, ук474==уN 6 п4EпоDт4E =4 уп4ко6к8  �, Я�, 
уG8тK64е<KE 6 !�'К  � 8  �О); 

A2-6ел8G8=у длO D4д8о=укл8д4, 6EодOIе7о 6 EоEт46  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О 
<1>. 

-------------------------------- 

<1> �=4Gе=8O A2-6ел8G8= длO D4д8о=укл8до6 пD86еде=K 6 т45л8Fе N 1 пD8ло6е=8O N 2 к 
DедеD4лL=K< =оD<4< 8 пD468л4< 6 о5л4Eт8 8EполL7о64=8O 4то<=о9 M=еD788 "�D468л4 
5е7оп4E=оEт8 пD8 тD4=EпоDт8Dо64=88 D4д8о4кт86=KE <4теD84ло6" (��-053-16), ут6еD6де==K< 
пD8к47о<  оEтеE=4д7оD4 от 15 Eе=тO5DO 2016 7. N 388 (74Dе78EтD8Dо64= �8=NEто<  оEE88 24 
O=64DO 2017 7., Dе78EтD4F8о==K9 N 45375), E 87<е=е=8O<8, 6=еEе==K<8 пD8к47о<  оEтеE=4д7оD4 
от 5 октO5DO 2020 7. N 385 (74Dе78EтD8Dо64= �8=NEто<  оEE88 5 =оO5DO 2020 7., Dе78EтD4F8о==K9 
N 60764). 

 

!6еде=8O о5 уEт4=о6ле=88 7D4=8F к4те7оD89 длO  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О, 6 
FелOE к4те7оD8Dо64=8O D4д84F8о==KE о5Jекто6 по уDо6=O< $� D4д84F8о==KE о5Jекто6 
пD86еде=K 6 т45л8Fе N 2 =4EтоOIе7о пD8ло6е=8O к  уко6одEт6у по 5е7оп4E=оEт8. 

�лO опDеделе=8O к4те7оD88 оп4E=оEт8 Eо6окуп=оEт8 (E<еE8) D4д8о=укл8д=KE 8EтоG=8ко6, 
6EодOI8E 6 EоEт46  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О, Dеко<е=дуетEO EледуNI89 поDOдок 
де9Eт689: 

опDедел8тL 4кт86=оEтL к46до7о D4д8о=укл8д4, 6EодOIе7о 6 EоEт46 E<еE8, 8 
Eоот6етEт6уNI8е A2-6ел8G8=K длO к46до7о D4д8о=укл8д4 6 Eоот6етEт688 E пу=кто< 3 =4EтоOIе7о 
пD8ло6е=8O; 

6KG8Eл8тL 47Dе78Dо64==ое A/A2-от=оHе=8е 6 Eоот6етEт688 E DоD<уло9: 
 

 

 

7де Ai,n - 4кт86=оEтL n-7о D4д8о=укл8д4 6 i-< D4д8о4кт86=о< <4теD84ле (уп4ко6ке); 

A2n - 7=4Gе=8е A2-6ел8G8=K длO n-7о D4д8о=укл8д4; 

опDедел8тL =4 оE=о6е 6KG8Eле==о7о 47Dе78Dо64==о7о A/A2-от=оHе=8O "D4EGет=уN" 
к4те7оD8N D4д84F8о==о9 оп4E=оEт8 E<еE8 D4д8о=укл8до6 6  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О 
6 Eоот6етEт688 E уEт4=о6ле==K<8 6 т45л8Fе N 2 =4EтоOIе7о пD8ло6е=8O к  уко6одEт6у по 
5е7оп4E=оEт8 7D4=8F4<8 к4те7оD89 оп4E=оEт8. 

К4те7оD8N поте=F84лL=о9 D4д84F8о==о9 оп4E=оEт8 уп4ко6ок, EодеD64I8E  �, Я�, 
уG8тK64е<KE 6 !�'К  � 8  �О, 4 т4к6е  �, 6 EоEт46 котоDKE 6EодOт  �, Dеко<е=дуетEO опDеделOтL 
=4 оE=о6е 8E 6о7<о6=о7о о5Iе7о D4д84F8о==о7о 6о7де9Eт68O =4 пеDEо=4л, =4Eеле=8е 8 
окDу64NIуN EDеду. 

!6еде=8O о5 уEт4=о6ле=88 7D4=8F к4те7оD89 длO  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О, 6 
FелOE к4те7оD8Dо64=8O D4д84F8о==KE о5Jекто6 по уDо6=O< $� D4д84F8о==KE о5Jекто6 
пD86еде=K 6 т45л8Fе N 2. 
 

&45л8F4 N 2 

 

'Dо6е=L D878GеEко9 74I8тK D4д84F8о==о7о о5Jект4, =4 котоDо< 

,

2

2

а7ре7ир>6а==>е / ->т=>ше=ие ,i ni

n

n

A
A A

A
 
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=4EодOтEO толLко D4д8о4кт86=Kе 6еIеEт64 8 OдеD=Kе <4теD84лK, 
уG8тK64е<Kе 6 !8Eте<е 7оEуд4DEт6е==о7о уGет4 8 ко=тDолO 

D4д8о4кт86=KE 6еIеEт6 8 D4д8о4кт86=KE отEодо6 

(=е 6 EоEт46е 74кDKтKE D4д84F8о==KE 8EтоG=8ко6) 
 

N 

п/п 

От=оHе=8е 
Eо6окуп=о9 
4кт86=оEт8 

D4д8о=укл8до6 к 
7=4Gе=8N A2 

'Dо6е=L 
D878GеEко9 
74I8тK 

D4д84F8о==о7
о о5Jект4 

ОпDеделе=8е G8Eле==KE 7=4Gе=89 7D4=8F к4те7оD89 
длO уEт4=о6ле=8O уDо6=O D878GеEко9 74I8тK 

1 A/A2  20 � 

!оот=оHе=8е A/A2, D46=ое 20, E уGето< Dуко6одEт64 
по 5е7оп4E=оEт8 ����&Э "Ко=EулLт4т86=K9 
<4теD84л к �D468л4< 5е7оп4E=о9 пеDе6о7к8 
D4д8о4кт86=KE <4теD84ло6 ����&Э (87д4=8е 2012 
7од4)" SSG-26 Eоот6етEт6ует 20-кD4т=о<у 
пDе6KHе=8N до7K 6 50 <�6/7од (т.е. 1 �6), 8EEодO 87 
котоDо7о D4EEG8т4=K 7=4Gе=8O A2. 20-кD4т=ое 
пDе6KHе=8е до7K 50 <�6/7од пD86од8т, Eо7л4E=о 
т45л8Fе 6.1 � �-99/2009 8 пу=кту �.5 пу5л8к4F88 
103 �К �, к 6о7=8к=о6е=8N детеD<8=8Dо64==KE 
MDDекто6 о5луGе=8O (луGе6о9 5оле7=8) 

2 2  A/A2 < 20 � 

!оот=оHе=8е A/A2, D46=ое 2, E уGето< Dуко6одEт64 
по 5е7оп4E=оEт8 ����&Э "Ко=EулLт4т86=K9 
<4теD84л к �D468л4< 5е7оп4E=о9 пеDе6о7к8 
D4д8о4кт86=KE <4теD84ло6 ����&Э (87д4=8е 2012 
7од4)" SSG-26 Eоот6етEт6ует 2-кD4т=о<у пDе6KHе=8N 
до7K 6 50 <�6/7од (т.е. 100 <�6), 8EEодO 87 котоDо7о 
D4EEG8т4=K 7=4Gе=8O A2. 2-кD4т=ое пDе6KHе=8е 
до7K 50 <�6/7од пD86од8т, Eо7л4E=о пу=кту �.2.1 
пу5л8к4F88 103 �К �, к 6о7=8к=о6е=8N D4ко6KE 
745оле64=89 6EледEт68е о5луGе=8O 

3 0,02  A/A2 < 2 � 

!оот=оHе=8е A/A2, D46=ое 0,02, E уGето< 
Dуко6одEт64 по 5е7оп4E=оEт8 ����&Э 
"Ко=EулLт4т86=K9 <4теD84л к �D468л4< 5е7оп4E=о9 
пеDе6о7к8 D4д8о4кт86=KE <4теD84ло6 ����&Э 
(87д4=8е 2012 7од4)" SSG-26, Eоот6етEт6ует 7=4Gе=8N 
до7K 6 50 D47 <е=LHе<у, Gе< 50 <�6/7од (т.е. 1 <�6), 
8EEодO 87 котоDо7о D4EEG8т4=K 7=4Gе=8O A2. �о74 6 
50 D47 <е=LH4O Gе< 50 <�6/7од, Eо7л4E=о пу=кту 2.3 

� �-99/2009, пD86од8т к пDе6KHе=8N 
по687=е==о7о D8Eк4 

4 A/A2 < 0,02 � 

�86=OO 7D4=8F4 =е уEт4=о6ле=4, о5оE=о64=8е 
6еDE=е9 7D4=8FK пD86еде=о 6 пу=кте 3 =4EтоOIе9 
т45л8FK 

 

4. �D8 уEт4=о6ле=88 уDо6=O $� D4д84F8о==KE о5Jекто6 E <о58лL=K<8  �, 6 EоEт46 котоDKE 
6EодOт толLко � �, D47<еIе==Kе =4 D4д84F8о==о< о5Jекте, Dеко<е=дуетEO 8EполL7о64тL 
E6еде=8O, пD86еде==Kе 6 т45л8Fе N 1 =4EтоOIе7о пD8ло6е=8O к  уко6одEт6у по 5е7оп4E=оEт8, 4 
пD8 6Kпол=е=88 D45от E т4к8<8 8EтоG=8к4<8 74 пDедел4<8 D4д84F8о==о7о о5Jект4 (7о=K 
о7D4=8Gе==о7о доEтуп4) уDо6е=L $� Dеко<е=дуетEO уEт4=46л864тL 6 Eоот6етEт688 E т45л8Fе9 N 3 






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=4EтоOIе7о пD8ло6е=8O к  уко6одEт6у по 5е7оп4E=оEт8. �D8 опDеделе=88 уDо6=O $� 
D4д84F8о==о7о о5Jект4 <о58лL=оEтL  � Dеко<е=дуетEO уG8тK64тL толLко пD8 =4Eо6де=88  � 6 
уEт4=о6ле==KE <еEт4E ED4=е=8O 8 пD8 8E MкEплу4т4F88 =4 д4==о< D4д84F8о==о< о5Jекте. 
 

&45л8F4 N 3 

 

'Dо6е=L D878GеEко9 74I8тK D4д84F8о==KE о5Jекто6 E <о58лL=K<8 

D4д84F8о==K<8 8EтоG=8к4<8 

 

К4те7оD8O D4д84F8о==о9 оп4E=оEт8 74кDKто7о 
D4д8о=укл8д=о7о 8EтоG=8к4 (Eо6окуп=оEт8 74кDKтKE 
D4д8о=укл8д=KE 8EтоG=8ко6) 6 EоEт46е <о58лL=о7о 

D4д84F8о==о7о 8EтоG=8к4 

'Dо6е=L D878GеEко9 74I8тK 
<о58лL=о7о D4д84F8о==о7о 

8EтоG=8к4 

1 � 

2 � 

3 � 

4 8л8 5 � 

 

 

 

 

 

�D8ло6е=8е N 3 

к Dуко6одEт6у по 5е7оп4E=оEт8 

пD8 8EполL7о64=88 4то<=о9 M=еD788 

" еко<е=д4F88 по EоEт46у, EодеD64=8N 

8 поDOдку D47D45отк8 о5Jекто6KE 

доку<е=то6 по D878GеEко9 74I8те 

6 оD74=874F8OE E D4д84F8о==K<8 

о5Jект4<8 8 поDOдку уEт4=о6ле=8O 

уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 

о5Jекто6", ут6еD6де==о<у пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 4 4пDелO 2024 7. N 121 

 

���'���/ A2 - ��Л�'�� �Л/ О&��Л,�+%  ���О�'КЛ��О� 

 

 4д8о=укл8д �<O A2, &�к 

T (
3
H) T 4,00E+01 

7
Be Be 2,00E+01 

10
Be Be 6,00E-01 

11
C C 6,00E-01 

14
C C 3,00E+00 



13
N N 6,00E-01 

18
F F 6,00E-01 

22
Na Na 5,00E-01 

24
Na Na 2,00E-01 

31
Si Si 6,00E-01 

32
Si Si 5,00E-01 

35
S Si 3,00E+00 

32
P P 5,00E-01 

33
P P 1,00E+00 

36
Cl Cl 6,00E-01 

38
Cl Cl 2,00E-01 

37
Ar Ar 4,00E+01 

39
Ar Ar 2,00E+01 

40
K K 9,00E-01 

42
K K 2,00E-01 

43
K K 6,00E-01 

45
Ca Ca 1,00E+00 

46
Sc Sc 5,00E-01 

47
Sc Sc 7,00E-01 

48
Sc Sc 3,00E-01 

48
V V 4,00E-01 

49
V V 4,00E+01 

51
Cr Cr 3,00E+01 

52
Mn Mn 3,00E-01 

54
Mn Mn 1,00E+00 

56
Mn Mn 3,00E-01 

55
Fe Fe 4,00E+01 

59
Fe Fe 9,00E-01 

57
Co Co 1,00E+01 

58
Co Co 1,00E+00 



60
Co Co 4,00E-01 

63
Ni Ni 3,00E+01 

67
Ga Ga 3,00E+00 

6S
Ga Ga 5,00E-01 

75
Se Se 3,00E+00 

79
Se Se 2,00E+00 

76
Br Br 4,00E-01 

77
Br Br 3,00E+00 

82
Br Br 4,00E-01 

79
Kr Kr 2,00E+00 

81m
Kr Kr 4,00E+01 

86
Rb Rb 5,00E-01 

85
Sr Sr 2,00E+00 

89
Sr Sr 6,00E-01 

85m
Sr Sr 5,00E+00 

90
Sr "a" <*> Sr 3,00E-01 

99
Mo "a" <*> Mo 6,00E-01 

99m
Tc Tc 4,00E+00 

111
In In 3,00E+00 

113
Sn "a" <*> Sn 2,00E+00 

123
I I 3,00E+00 

125
I I 3,00E+00 

131
I I 7,00E-01 

131
Xe Xe 1,00E+01 

137
Cs "a" <*> Cs 6,00E-01 

153
Sm Sm 6,00E-01 

169
Er Er 1,00E+00 

198
Au Au 6,00E-01 

203
Hg Hg 1,00E+00 

201
Tl Tl 4,00E+00 



226
Ra "a" <*> Ra 3,00E-03 

236
U U 6,00E-03 

239
Pu Pu 1,00E-03 

252
Cf Cf 3,00E-03 

244
Cm Cm 2,00E-03 

 

-------------------------------- 

�D8<еG4=8е: "a" <*> - 7=4Gе=8O A2 длO Mт8E <4теD8=Eк8E D4д8о=укл8до6 6клNG4Nт 6кл4д от 
доGеD=8E D4д8о=укл8до6 E пеD8одо< полуD4Eп4д4 <е=ее 10 д=е9. 
 

 

 

 

 

�D8ло6е=8е N 4 

к Dуко6одEт6у по 5е7оп4E=оEт8 

пD8 8EполL7о64=88 4то<=о9 M=еD788 

" еко<е=д4F88 по EоEт46у, EодеD64=8N 

8 поDOдку D47D45отк8 о5Jекто6KE 

доку<е=то6 по D878GеEко9 74I8те 

6 оD74=874F8OE E D4д84F8о==K<8 

о5Jект4<8 8 поDOдку уEт4=о6ле=8O 

уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 

о5Jекто6", ут6еD6де==о<у пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 4 4пDелO 2024 7. N 121 

 

� ��� + 

 �!'�&О� �Л/ '!&��О�Л���/ ' О���� $���'�!КО� ��)�&+ 

 ����&�О��+% О�*�К&О� 

 

�D8<еD N 1 

 

&45л8F4 N 1 

 

ОпDеделе=8е уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 

о5Jекто6 E D4д84F8о==K<8 8EтоG=8к4<8, 6 EоEт46 котоDKE 

6EодOт D4д8о4кт86=Kе 6еIеEт64 

 



&8п D4д8о4кт86=KE 
6еIеEт6, OдеD=KE 
<4теD84ло6 8л8 
=о<еD п4EпоDт4 
D4д8о4кт86=KE 

6еIеEт6, OдеD=KE 
<4теD84ло6 =е 6 
EоEт46е 74кDKтKE 
D4д84F8о==KE 
8EтоG=8ко6 

 4д8о=укл8дK 
6 EоEт46е 

D4д8о4кт86=KE 
6еIеEт6, 
OдеD=KE 

<4теD84ло6 =е 
6 EоEт46е 
74кDKтKE 

D4д84F8о==KE 
8EтоG=8ко6 

�еD8од 
полуD4Eп4д4 
D4д8о=укл8д4 

�кт86=оEтL 
D4д8о=укл8до6 
D4д8о4кт86=KE 

6еIеEт6, OдеD=KE 
<4теD84ло6 =е 6 
EоEт46е 74кDKтKE 
D4д84F8о==KE 
8EтоG=8ко6 (�к) 

A2-6ел8G8=4 длO 
D4д8о=укл8до6 
D4д8о4кт86=KE 

6еIеEт6, 
OдеD=KE 

<4теD84ло6 =е 6 
EоEт46е 
74кDKтKE 

D4д84F8о==KE 
8EтоG=8ко6 (�к) 

A/A2-

от=оHе=8
е (E 

тоG=оEтL
N до 
EотKE) 

'Dо6е=L 
D878GеEк

о9 
74I8тK 

1 2 3 4 5 6 7 

N 04-04-19 
14

C 5,73 x 10
3
 лет 9,25 x 10

9
 3 x 10

12
 0,00 � 

�К244�.28 
244

Cm 18,1 лет 2,2 x 10
8
 2 x 10

9
 0,11 � 

�К244�.38 
244

Cm 18,1 лет 3,5 x 10
8
 2 x 10

9
 0,18 � 

�К244�.19 
244

Cm 18,1 лет 1,6 x 10
9
 2 x 10

9
 0,80 � 

�К252�.26 
252

Cf 2,64 лет 2,7 x 10
7
 3 x 10

9
 0,01 � 

N 6407 
63

Ni 96 лет 1,11 x 10
10

 3 x 10
13

 0,00 � 

N 7600 
63

Ni 96 лет 5,55 x 10
10

 3 x 10
13

 0,00 � 

 -26 
3
H 12,3 лет 7,4 x 10

6
 4 x 10

13
 0,00 � 

'6�9К4 

236
U (31%) 2,34 x 10

7
 лет 59,52 6 x 10

9
 

0,00 

� 

239
Pu (40%) 2,41 x 10

4
 лет 76,8 1 x 10

9
 � 

244
Cm (29%) 18,1 лет 55,68 2 x 10

9
 � 

 

�лO опDеделе=8O уDо6=O $� D4д84F8о==KE о5Jекто6 E  �, пD86еде==KE 6 Eтол5Fе 1 т45л8FK N 1, Dеко<е=дуетEO ED46=8тL Dе7улLт4тK 6KG8Eле=89, 



пD86еде==KE 6 7D4Dе 6, E кD8теD8O<8, пD86еде==K<8 6 т45л8Fе N 2 пD8ло6е=8O N 2 к  уко6одEт6у по 5е7оп4E=оEт8. 
 

�D8<еD N 2 

 

ОпDеделе=8е уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE о5Jекто6, 
=4 котоDKE 8EполL7уNтEO 7е=еD4тоDK 99m

Tc 

 

� т45л8Fе N 2 D4EE<отDе= пD8<еD к4те7оD8Dо64=8O 7е=еD4тоD4 99mTc 8 опDеделе=8O уDо6=O $� Eоот6етEт6уNIе7о D4д84F8о==о7о о5Jект4. 
 

&45л8F4 N 2 

 

�D8<еD к4те7оD8Dо64=8O 7е=еD4тоD4 99m
Tc 

 

 4д84F8о==K9 
8EтоG=8к 

 4д8о=укл8д 6 
EоEт46е 

D4д84F8о==о7
о 8EтоG=8к4 

�еD8од 
полуD4Eп4д4 
D4д8о=укл8д4 

�кт86=оEтL (A) 
D4д8о=укл8до6 

(�к) 

A2-6ел8G8=4 длO 
D4д8о=укл8до6 

(�к) 

A/A2-

от=оHе=8
е 

'Dо6е=L 
D878GеEк

о9 
74I8тK 
D4д84F8
о==о7о 
8EтоG=8к

4 

�е=еD4тоD 99m
Tc 

99
Mo 2,75 Eут 3,70E+11 6,00E+11 0,62 � 

�е=еD4тоD 99m
Tc 

99
Mo 2,75 Eут 3,70E+10 6,00E+11 0,06 � 



 

�D8<еD N 3 

 

ОпDеделе=8е уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE о5Jекто6 

пD8 о5D4Iе=88 E D4д8о4кт86=K<8 6еIеEт64<8 6 <ед8F8=Eк8E 

FелOE (D4д8оD4D<пDеп4D4тK) 
 

� т45л8Fе N 3 =4EтоOIе7о пD8ло6е=8O к  уко6одEт6у по 5е7оп4E=оEт8 D4EE<отDе= пD8<еD 
к4те7оD8Dо64=8O т8по6KE  �, 8EполL7уе<KE 6 <ед8F8=е 8 58оло78GеEк8E 8EEледо64=8OE, 8 
опDеделе=8O уDо6=O $� Eоот6етEт6уNIе7о D4д84F8о==о7о о5Jект4. 
 

&45л8F4 N 3 <1> 

 

-------------------------------- 

<1> "О5D4Iе=8е E D4д8о4кт86=K<8 отEод4<8 пеDед 74EоDо=е=8е< 6 Dе7улLт4те 
8EполL7о64=8O D4д8о4кт86=KE <4теD84ло6 6 <ед8F8=е, пDо<KHле==оEт8, EелLEко< Eо7O9Eт6е, 
=4уG=KE 8EEледо64=8OE 8 о5D47о64=88" (!еD8O Eт4=д4DтK 5е7оп4E=оEт8 ����&Э, EпеF84лL=ое 
Dуко6одEт6о по 5е7оп4E=оEт8 N SSG-45, �е=4: ����&Э, 2019. - ISBN 978-92-0-111316-0). 

 

&8по6Kе D4д8о4кт86=Kе 6еIеEт64, 8EполL7уе<Kе 6 <ед8F8=е 

8 58оло78GеEк8E 8EEледо64=8OE 

 

 4д8о4кт86=Kе 
6еIеEт64 6 
EоEт46е 

D4д8оD4D<пDе
п4D4то6 

�еD8од 
полуD4Eп4д

4 

&8п8G=4O 
4кт86=оEтL 

D4д8о4кт86=KE 
6еIеEт6 пD8 
пD8<е=е=88 

(Aт8п), �к 

A2-

6ел8G8=4, 
�к 

Aт8п/A2-

от=оHе=8е 

'Dо6е=L 
D878GеEко9 
74I8тK 

D4д8оD4D<пDеп4
D4то6 E 

D4д8о4кт86=K<8 
6еIеEт64<8 

3
H 12,3 лет 5,00E+10 4,00E+13 1,25E-03 � 

11
C 20,4 <8= 2,00E+09 6,00E+11 3,33E-03 � 

14
C 5 730 лет 5,00E+10 3,00E+12 1,67E-02 � 

15
O 122 Eек 2,00E+09 ��& 

18
F 1,8 G4E 5,00E+08 6,00E+11 8,33E-04 � 

24
Na 15 G4E 5,00E+09 2,00E+11 2,50E-02 � 

32
P 14,3 Eут 2,00E+08 5,00E+11 4,00E-04 � 

33
P 25,4 Eут 5,00E+07 1,00E+12 5,00E-05 � 

35
S 87,4 Eут 5,00E+09 3,00E+12 1,67E-03 � 

36
Cl 3,01 x 10

5
 

лет 
5,00E+07 6,00E+11 8,33E-05 � 

45
Ca 163 Eут 1,00E+08 1,00E+12 1,00E-04 � 

46
Sc 83,8 Eут 5,00E+08 5,00E+11 1,00E-03 � 



51
Cr 27,7 Eут 5,00E+06 3,00E+13 1,67E-07 � 

51
Cr 27,7 Eут 1,00E+08 3,00E+13 3,33E-06 � 

57
Co 271,7 Eут 5,00E+07 1,00E+13 5,00E-06 � 

58
Co 70,8 Eут 5,00E+07 1,00E+12 5,00E-05 � 

59
Fe 44,5 Eут 5,00E+07 9,00E+11 5,56E-05 � 

67
Ga 3,3 Eут 2,00E+08 3,00E+12 6,67E-05 � 

68
Ga 68,2 <8= 2,00E+09 5,00E+11 4,00E-03 � 

75
Se 120 Eут 1,00E+07 3,00E+12 3,33E-06 � 

81m
Kr 13,3 Eек 6,00E+09 4,00E+13 1,50E-04 � 

85
Sr 64,8 Eут 5,00E+07 2,00E+12 2,50E-05 � 

86
Rb 18,7 Eут 5,00E+07 5,00E+11 1,00E-04 � 

82m
Rb 6,2 G4E 5,00E+07 ��& 

89
Sr 50,5 Eут 3,00E+08 6,00E+11 5,00E-04 � 

90
Y 2,7 Eут 3,00E+08 3,00E+11 1,00E-03 � 

95
Nb 35 Eут 5,00E+07 1,00E+12 5,00E-05 � 

95
Nb 35 Eут 5,00E+07 1,00E+12 5,00E-05 � 

99m
Tc 6 G4E 1,00E+11 4,00E+12 2,50E-02 � 

111
In 2,8 Eут 5,00E+07 3,00E+12 1,67E-05 � 

123
I 13,2 G4E 5,00E+08 3,00E+12 1,67E-04 � 

125
I 60,1 Eут 5,00E+08 3,00E+12 1,67E-04 � 

131
I 8 Eут 1,00E+10 7,00E+11 1,57E-02 � 

113
Sn 155 Eут 5,00E+07 2,00E+12 2,50E-05 � 

133
Xe 5,3 Eут 4,00E+08 1,00E+13 4,00E-05 � 

153
Sm 1,9 Eут 8,00E+09 6,00E+11 1,33E-02 � 

169
Er 9,3 Eут 5,00E+08 1,00E+12 5,00E-04 � 

198
Au 2,7 Eут 5,00E+08 6,00E+11 8,33E-04 � 

201
Tl 3 Eут 2,00E+08 4,00E+12 5,00E-05 � 

203
Hg 46,6 Eут 5,00E+06 1,00E+12 5,00E-06 � 

 

�D8<еD N 4 

 



ОпDеделе=8е уDо6=е9 D878GеEко9 74I8тK 

D4д8о4кт86=KE <4теD84ло6, D47<еIе==KE 6 ED4=8л8Iе т6еDдKE 

D4д8о4кт86=KE отEодо6 

 

 4EE<отD8< пD8<еD к4те7оD8Dо64=8O %& О =4 оE=о6е E6еде=89 о  �О, пD86еде==KE 6 
т45л8Fе N 4 =4EтоOIе7о пD8ло6е=8O к  уко6одEт6у по 5е7оп4E=оEт8. 'к474==4O т45л8F4 =е 
EодеD68т  �О 6 68де отD45от46H8E � �. 

� %& О ED4=OтEO ко=те9=еDK D47л8G=KE т8по6, 6 котоDKE EодеD64тEO  � (<4теD84лK), =е 
пDед=47=4Gе==Kе длO д4лL=е9Hе7о 8EполL7о64=8O, EодеD64I8е D4д8о=укл8дK 60

Co, 
226

Ra, 
239

Pu, 
90

Sr, T, 
137Cs. �лO к46до7о ко=те9=еD4 ук474= оE=о6=о9 D4д8о=укл8д, 8<еNI89 =485олLHуN 

4кт86=оEтL 8 опDеделONI89 к4те7оD8N  �О. 

 еко<е=дуетEO 6KG8Eл8тL Eу<<4D=уN 4кт86=оEтL по 7Dупп4< D4д8о=укл8до6, 74те< 
=4Eод8тL Asum/A2-от=оHе=8е по 7Dупп4< длO пDо6еде=8O д4лL=е9Hе7о 4=4л874 по опDеделе=8N 
уDо6=O $� ED4=8л8I4. 
 

&45л8F4 N 4 

 

ОпDеделе=8е Eу<<4D=о9 4кт86=оEт8 по 7Dупп4< D4д8о=укл8до6 

 

N 

п/п 

 4д8о=укл8дK
, 8<еNI8е 
=485олLHуN 
4кт86=оEтL 

�кт86=оEтL 
4лLD4-

87луG4NI8E 
=укл8до6, �к 

�кт86=оEтL 
5ет4-, 74<<4-

87луG4NI8E 
=укл8до6, �к 

!у<<4D=4O 
4кт86=оEтL по 

7Dупп4< 
D4д8о=укл8до
6 (Asum), �к 

A2-

6ел8G8=4 
D4д8о=ук
л8до6, �к 

Asum/A2-

от=оHе=8е 

1 2 3 4 5 6 7 

1 
60

Co - 2,11E+07 

2,45E+12 4,00E+11 6,12E+00 
2 

60
Co - 8,73E+10 

3 
60

Co - 6,81E+07 

4 
60

Co - 2,36E+12 

5 
239

Pu 3,52E+11 - 

6,70E+12 1,00E+09 6,70E+03 

6 
239

Pu 5,25E+10 - 

7 
239

Pu 4,47E+06 - 

8 
239

Pu 6,11E+12 - 

9 
239

Pu 1,84E+11 - 

10 
226

Ra 2,10E+09 - 

8,23E+09 3,00E+09 2,74E+00 

11 
226

Ra 2,64E+08 - 

12 
226

Ra 1,26E+07 - 

13 
226

Ra 2,67E+07 - 

14 
226

Ra 4,90E+09 - 



15 
226

Ra 9,10E+08 - 

16 
226

Ra 1,60E+07 - 

17 
90

Sr - 1,69E+08 1,69E+08 3,00E+11 5,63E-04 

18 
3
H - 2,84E+13 

1,52E+14 4,00E+13 3,81E+00 
19 

3
H - 1,24E+14 

20 
137

Cs - 1,43E+09 1,43E+09 6,00E-+11 2,38E-03 

 

!у<<4D=ое Asum/A2-от=оHе=8е длO 6EеE 7Dупп D4д8о=укл8до6 полуG4е< путе< Eло6е=8O 
7=4Gе=89, пD86еде==KE 6 7D4Dе Asum/A2 = 6711,18. !о7л4E=о т45л8Fе N 2 пD8ло6е=8O N 2 к 
 уко6одEт6у по 5е7оп4E=оEт8 уDо6е=L $� %& О, =4 котоDо< D47<еIе=K  �, =е подле64I8е 
д4лL=е9Hе<у 8EполL7о64=8N, дол6е= 5KтL уEт4=о6ле= =4 уDо6=е "�". ОGе68д=о, Gто =4 уDо6е=L 
$� %& О ок47K64Nт 6л8O=8е ко=те9=еDK, EодеD64I8е D4д8о4кт86=Kе 6еIеEт64 E D4д8о=укл8до< 
239Pu. �е7 ко=те9=еDо6, EодеD64I8E Mтот D4д8о=укл8д, от=оHе=8е Asum/A2 = 12,67, Gто тDе5о64ло 
5K уEт4=о6ле=8O уDо6=O $� "�". 

�<еEте E те<  �, =е пDед=47=4Gе==Kе длO д4лL=е9Hе7о 8EполL7о64=8O 8 D47<еIе==Kе 6 
%& О, <о7ут о5л4д4тL EледуNI8<8 4тD85ут4<8, 6едуI8<8 к E=86е=8N уDо6=O $�: 

6о7<о6=оEтL 6оEEт4=о6ле=8O:  � <о7ут EодеD64тLEO 6 т6еDдо9 <4тD8Fе (=4пD8<еD, 6 
5ето==о< 5локе), Gто 74тDуд=Oет 8E 6оEEт4=о6ле=8е; 

под6еD6е==оEтL D4EEеO=8N:  �, EодеD64тEO 6 т6еDдо9 <4тD8Fе, плоEо подд4NтEO 

D4EEеO=8N; 

6о7<о6=оEтL тD4=EпоDт8Dо64=8O: 6еE =екотоDKE т8по6 ко=те9=еDо6 E  � 74тDуд=Oет 8E 
тD4=EпоDт8Dо64=8е, поEколLку Mто тDе5ует <=о7о 6Dе<е=8 8 8EполL7о64=8O тO6ело7о 
о5оDудо64=8O. 

'G8тK64O 87ло6е==ое 6KHе, око=G4телL=ое DеHе=8е о5 уEт4=о6ле=88 уDо6=O $� длO %& О 
Dеко<е=дуетEO пD8=8<4тL =4 оE=о6е 4=4л874 к4к 6KG8Eле==о9 к4те7оD88 D4д8о4кт86=о7о 
<4теD84л4, т4к 8 4=4л874 4тD85уто6, 6едуI8E к E=86е=8N уDо6=O $� ED4=8л8I4.  е7улLт4тK 
4=4л8т8GеEко9 D45отK Dеко<е=дуетEO оDоD<лOтL 6 68де 4кт4 8EEледо64=89 5е7оп4E=о7о 
ED4=е=8O  � (<4теD84ло6), =е подле64I8E д4лL=е9Hе<у 8EполL7о64=8N. 
 

�D8<еD N 5 

 

ОпDеделе=8е уDо6=е9 D878GеEко9 74I8тK длO отD45от46H8E 

74кDKтKE D4д8о=укл8д=KE 8EтоG=8ко6, D47<еIе==KE 6 ED4=8л8Iе 

т6еDдKE D4д8о4кт86=KE отEодо6 

 

 4EE<отD8< опDеделе=8е уDо6=е9 $� %& О =4 оE=о6е E6еде=89 о5 отD45от46H8E � �, 
пD86еде==KE 6 т45л8Fе N 5. 

� %& О ED4=OтEO ко=те9=еDK, 6 котоDKE D47<еIе=K � �, =е пDед=47=4Gе==Kе длO 
д4лL=е9Hе7о 8EполL7о64=8O, EодеD64I8е D4д8о=укл8дK 90

Sr, 
90

Y, 
239Pu. �лO к46до7о � � ук474=о 

<еEто ED4=е=8O (=о<еD ко=те9=еD4 8 =48<е=о64=8е пу=кт4 ED4=е=8O). 

 еко<е=дуетEO 6KG8Eл8тL Eу<<4D=уN 4кт86=оEтL по 7Dупп4< D4д8о=укл8до6, 74те< 
=4Eод8тL Asum/D-от=оHе=8е по 7Dупп4< длO пDо6еде=8O д4лL=е9Hе7о 4=4л874 по опDеделе=8N 
уDо6=O $� ED4=8л8I4. 



 

&45л8F4 N 5 

 

ОпDеделе=8е уDо6=е9 D878GеEко9 74I8тK ED4=8л8I4 т6еDдKE 

D4д8о4кт86=KE отEодо6 =4 оE=о6е E6еде=89 о5 отD45от46H8E 

74кDKтKE D4д8о=укл8д=KE 8EтоG=8к4E 

 



N 

п/п 

ОтD45от46H89 74кDKтK9 D4д8о=укл8д=K9 
8EтоG=8к 

�у=кт 
ED4=е=8O 

!у<<4D=4O 
4кт86=оEтL 
по 7Dупп4< 
D4д8о=укл8д
о6 (Asum), �к 

D-6ел8G8=K 
отD45от46H8
E 74кDKтKE 
D4д8о=укл8д

=KE 
8EтоG=8ко6, 

&�к 

Asum/D-

от=оHе=8
е 

'Dо6е=L 
D878GеEко9 
74I8тK 

D4д84F8о==о
7о о5Jект4 

('$�) 

 4д8о=укл8дK, 
6EодOI8е 6 EоEт46 
отD45от46Hе7о 
74кDKто7о 

D4д8о=укл8д=о7о 
8EтоG=8к4 

Кол8Gе
Eт6о, 
Hт. 

�кт86=оEтL 
отD45от46Hе7о 
74кDKто7о 

D4д8о=укл8д=о7
о 8EтоG=8к4, �к 

�48<е=о
64=8е 

1 2 3 4 5 6 7 8 9 

1 
90

Sr; 
90

Y 4 2,00E+05 %& О 8,00E+05 1,00E+00 8,00E-07 '$� < "�" 

2 
239

Pu 4 4,10E+07 %& О 1,64E+08 6,00E-02 2,73E-03 '$� < "�" 



 

!у<<4D=ое Asum/D-от=оHе=8е длO д6уE 7Dупп D4д8о=укл8до6, пD86еде==ое 6 7D4Dе Asum/D = 

2,73·10-3. !о7л4E=о т45л8Fе N 1 пD8ло6е=8O N 2 к  уко6одEт6у по 5е7оп4E=оEт8 уDо6е=L $� %& О, 6 
котоDо< D47<еIе=K ук474==Kе � �, =е подле64I8е д4лL=е9Hе<у 8EполL7о64=8N, =86е уDо6=O 
"�", т4к к4к длO 74DKтKE � � A/D < 1. �4 Mто< оE=о64=88 тDе5о64=8O ��-034-23 =4 д4==ое 
ED4=8л8Iе =е D4EпDоEтD4=ONтEO. 
 

 

 

 

 

�D8ло6е=8е N 5 

к Dуко6одEт6у по 5е7оп4E=оEт8 

пD8 8EполL7о64=88 4то<=о9 M=еD788 

" еко<е=д4F88 по EоEт46у, EодеD64=8N 

8 поDOдку D47D45отк8 о5Jекто6KE 

доку<е=то6 по D878GеEко9 74I8те 

6 оD74=874F8OE E D4д84F8о==K<8 

о5Jект4<8 8 поDOдку уEт4=о6ле=8O 

уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 

о5Jекто6", ут6еD6де==о<у пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 4 4пDелO 2024 7. N 121 

 

�� �'��, 

Л�&, ���.)�%  �� �(���� �� � О�������  ��О& !  ���О�К&���+�� 

��)�!&����, /�� �+�� ��&� ��Л���, ''�&+����+�� � !�!&��� 

�О!'�� !&����О�О ''�&� � КО�& ОЛ/  ���О�К&���+% ��)�!&� 

�  ���О�К&���+% О&%О�О�,  ����&�О��+% �!&О'��КО� 

� �'�К&�% % �����/ 

 

1. � пеDеG=е л8F, 8<еNI8E D47DеHе=8е =4 пDо6еде=8е D45от E  � 8 Я�, уG8тK64е<K<8 6 
!�'К  � 8  �О,  � 6 �%, Dеко<е=дуетEO пD86од8тL E6еде=8O о л8F4E, котоDKе 8<еNт D47DеHе=8O 
=4 пDо6еде=8е D45от E  � 8 Я�, уG8тK64е<K<8 6 !�'К  � 8  �О,  � 6 �%, длO к46до7о 
D4д84F8о==о7о о5Jект4. 

2.  еко<е=дуетEO ED4=8тL коп88 де9Eт6уNI8E пеDеG=е9 л8F, 8<еNI8E D47DеHе=8O =4 
пDо6еде=8O D45от E  � 8 Я�, уG8тK64е<K<8 6 !�'К  � 8  �О,  � 6 �%, =4 D4д84F8о==KE о5Jект4E, 
7де пDо6одOтEO Mт8 D45отK. 

3. � пеDеG=е л8F, 8<еNI8E D47DеHе=8е =4 пDо6еде=8е D45от E  � 8 Я�, уG8тK64е<K<8 6 
!�'К  � 8  �О,  � 6 �%, Dеко<е=дуетEO ук47K64тL длO к46до7о л8F4 8л8 7DуппK л8F дол6=оEт8, 
D47DеHе==ое 6Dе<O D45отK (Eо7л4E=о уEт4=о6ле==о<у Dе68<у D45оGе7о 6Dе<е=8 8 6=утDе==е<у 
тDудо6о<у D4EпоDOдку) 8 <еEт4 пDо6еде=8O D45от (=4пD8<еD, =о<еD по<еIе=8O). 

4. �еде9Eт6уNI8е пеDеG=8 л8F, 8<еNI8E D47DеHе=8O =4 пDо6еде=8е D45от E  � 8 Я�, 
уG8тK64е<K<8 6 !�'К  � 8  �О,  � 6 �%, Dеко<е=дуетEO ED4=8тL 6 оD74=874F88 =е <е=ее 7од4. 
 

 

 

 

 

�D8ло6е=8е N 6 

https://login.consultant.ru/link/?req=doc&base=LAW&n=462541&dst=100011


к Dуко6одEт6у по 5е7оп4E=оEт8 

пD8 8EполL7о64=88 4то<=о9 M=еD788 

" еко<е=д4F88 по EоEт46у, EодеD64=8N 

8 поDOдку D47D45отк8 о5Jекто6KE 

доку<е=то6 по D878GеEко9 74I8те 

6 оD74=874F8OE E D4д84F8о==K<8 

о5Jект4<8 8 поDOдку уEт4=о6ле=8O 

уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 

о5Jекто6", ут6еD6де==о<у пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 4 4пDелO 2024 7. N 121 

 

��!& 'К&�/ �О !��ОО% ���  ����&�О��+% О�*�К&О� 

 

1. �=EтDукF88 по E4<ооED4=е D4д84F8о==KE о5Jекто6 Dеко<е=дуетEO D47D454тK64тL длO 
оп8E4=8O поEледо64телL=оEт8 де9Eт689, котоDKе Eледует 6Kпол=OтL D45от=8ку оD74=874F88 =4 
D4д84F8о==KE о5Jект4E 6 EлуG4е о5=4Dу6е=8O Eо5Kт89, котоDKе <о7ут O6лOтLEO 
=еE4=кF8о=8Dо64==K<8 де9Eт68O<8. 

2.  еко<е=дуетEO, Gто5K 8=EтDукF88 по E4<ооED4=е EодеD64л8 EледуNIуN 8=DоD<4F8N: 

поDOдок =47=4Gе=8O D45от=8ко6 D4д84F8о==о7о о5Jект4 де6уD=K<8 по E4<ооED4=е 6 
к46до< 87 по<еIе=89, =4EодOI8EEO под E4<ооED4=о9; 

поDOдок ут6еD6де=8O 7D4D8к4 де6уDEт6 от6етEт6е==K< 74 $� 6 оD74=874F88; 

пеDеGе=L Eо5Kт89, котоDKе ко=тDол8DуNтEO D45от=8к4<8 пD8 E4<ооED4=е (=4пD8<еD, 6Eод 
=4 D4д84F8о==Kе о5JектK л8F, =е 8<еNI8E пD464 доEтуп4 6 д4==ое по<еIе=8е, 6K=оE  � 5е7 
Eоот6етEт6уNIе7о D47DеHе=8O, =4л8G8е 6 по<еIе=88 подо7D8телL=KE Eу<ок, п4кето6, E6еDтко6, 
=4л8G8е =4 теDD8тоD88 D4д84F8о==KE о5Jекто6 подо7D8телL=KE л8F, 46тотD4=EпоDт=KE EDедEт6); 

поEледо64телL=оEтL де9Eт689, котоDKе Dеко<е=дуетEO 6Kпол=OтL D45от=8ку пD8 
о5=4Dу6е=88 опDеделе==о7о Eо5Kт8O (=4пD8<еD, Eоо5I8тL о д4==о< Eо5Kт88 
=епоEDедEт6е==о<у Dуко6од8телN 8л8 л8Fу, от6етEт6е==о<у 74 $� D4д84F8о==о7о о5Jект4, 
пDо8=DоD<8Dо64тL пеDEо=4л Eлу65K 5е7оп4E=оEт8 8л8 оED4=K D4д84F8о==о7о о5Jект4, 
по76о=8тL 6 пол8F8N); 

поло6е=8е о то<, Gто лN5о9 D45от=8к, 6Kпол=ONI89 Dу=кF88 по E4<ооED4=е, пеD6K< 
74<ет86H89 поEтоDо==ее л8Fо =4 D4д84F8о==о< о5Jекте, Eоо5I4ет о5 Mто< от6етEт6е==о<у 74 
$� 8л8 =4 Mто< D4д84F8о==о< о5Jекте, 8л8 6 оD74=874F88; 

<еEт4 D47<еIе=8O EDедEт6 E6O78 8 тDе6о6=о-6K7K6=о9 E87=4л874F88 =4 D4д84F8о==KE 
о5Jект4E 8 поDOдок 8E пD8<е=е=8O. 

3. � EоEт46 8=EтDукF88 по E4<ооED4=е D4д84F8о==KE о5Jекто6 Dеко<е=дуетEO 6клNG8тL 
D47дел, к4E4NI89EO от6етEт6е==оEт8 74 о5еEпеGе=8е Dе68<4 E4<ооED4=K, допуEк 6 по<еIе=8O, 
=4EодOI8еEO под Dе68<о< E4<ооED4=K, поддеD64=8е уEт4=о6ле==KE пD468л поEеIе=8O 8 
D45отK 6 по<еIе=8OE, =4EодOI8EEO под E4<ооED4=о9. � EодеD64=88 8=EтDукF88 де6уD=о<у по 
E4<ооED4=е т4к6е Dеко<е=дуетEO пDедуE<отDетL =4л8G8е EледуNI8E о5O74==оEте9: 

пDо6еDк4 FелоEт=оEт8 д6еD=KE 5локо6, 74<ко6KE 8 опеG4тK64NI8E уEтDо9Eт6, 8EпD46=оEтL 
EDедEт6 E6O78, EоEтоO=8O <4Dк8Dо6к8 по<еIе=89, =4л8G8O 8 EоEтоO=8O пDедупDед8телL=KE 
=4дп8Eе9; 

пDо6еDк4 =4л8G8O допол=8телL=о7о опеG4т4==о7о пе=4л4 E клNG4<8 8 FелоEт=оEт8 



пло<58Dо6оG=о7о <4теD84л4 =4 =е<; 

пDо6еDк4 пD8 6EкDKт88 по<еIе=8O =4л8G8O 8=EтDукF88 по E4<ооED4=е, 6уD=4л4 уGет4 
<еEто=4Eо6де=8O <о58лL=KE  �, 6уD=4л4 пD8е<4 8 Eд4G8 де6уDEт6 по E4<ооED4=е, клNGе9 от 
по<еIе=8O, Eп8Eко6 л8F, 8<еNI8E пD46о доEтуп4 6 по<еIе=8е; 

=45лNде=8е, Gто5K 6Eод=4O д6еDL 5Kл4 поEтоO==о 74кDKт4; 

пDо6еDк4 =4де6=оEт8 74п8D4=8O 6Eод=о9 д6еD8; 

пD8=Oт8е де6уDEт64 по E4<ооED4=е E от<етко9 6 6уD=4ле пD8е<4 8 Eд4G8 де6уDEт6 по 
E4<ооED4=е пеDед =4G4ло< D45отK 8 пеDед4G4 де6уDEт64 пD8 6KEоде 87 по<еIе=8O 6 теGе=8е 
D45оGе7о д=O; 

пD8=Oт8е <еD по Dе<о=ту 8 поддеD64=8N 6 D45оGе< EоEтоO=88 6Eод=о9 д6еD8 по<еIе=8O, 
=4EодOIе7оEO под E4<ооED4=о9, 74<ко6, оE6еIе=8O, EDедEт6 по64DотуHе=8O 8 пDоGе7о, от Gе7о 
7468E8т =4де6=оEтL Dе68<4 E4<ооED4=K; 

6еде=8е 6уD=4л4 уGет4 поEет8теле9, 6Kпол=ONI8E D45отK 6 по<еIе=88 6=е Eп8Eко6 по 
D47о6K< 8 дDу78< D4EпоDO6е=8O<, котоDK9 оDоD<лOетEO 6 Eоот6етEт688 E тDе5о64=8O<8 6еде=8O 
делопDо876одEт64; 

допуEк 6 по<еIе=8е (к о5оDудо64=8N) пеDEо=4л4 Eо7л4E=о ут6еD6де==K< Eп8Eк4<, пDоGе7о 
пеDEо=4л4 по D4EпоDO6е=8O<, 6Kд464е<K< 6 уEт4=о6ле==о< поDOдке E Dе78EтD4F8е9 6 6уD=4ле 
уGет4 поEет8теле9; поEет8теле9 6 EопDо6о6де=88 D45от=8ко6, 8<еNI8E поEтоO==K9 доEтуп 6 
д4==ое по<еIе=8е по 74O6ке, ут6еD6де==о9 Dуко6одEт6о< D4д84F8о==о7о о5Jект4 E 
Dе78EтD4F8е9 6 6уD=4ле уGет4 поEет8теле9. 

4.  еко<е=дуетEO 6еEт8 ко=тDолL 74 о7=4ко<ле=8е< к46до7о D45от=8к4 оD74=874F88, 
оEуIеEт6лONIе7о E4<ооED4=у D4д84F8о==о7о о5Jект4, E 8=EтDукF8е9 по E4<ооED4=е, 4 т4к6е 74 
те<, Gто5K 8=EтDукF88 =4Eод8л8EL 6 <еEт4E D47<еIе=8O Eоот6етEт6уNI8E  �,  � 8 �%. 

5. �опуEк4етEO D47D45отк4 од=о9 (т8по6о9) 8=EтDукF88 по E4<ооED4=е длO =еEколLк8E 
D4д84F8о==KE о5Jекто6. 
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О� ���Л/.)�� Л�&, О&��&!&����+% �� $���'�!К'. ��)�&' 



� О ������&�� � ��  ����&�О��+% О�*�К&�% 

 

1. � доку<е=те, опDеделONIе< л8F, от6етEт6е==KE 74 $� 6 оD74=874F88 8 =4 D4д84F8о==о< 
о5Jекте, Dеко<е=дуетEO ук47K64тL D4<8л8N, 8<O, отGеEт6о (пD8 =4л8G88) от6етEт6е==о7о л8F4, 
74=8<4е<уN 8< дол6=оEтL, EтDуктуD=ое подD47деле=8е оD74=874F88, 6 котоDо< D45от4ет 
дол6=оEт=ое л8Fо, пD86одOтEO D4д84F8о==Kе о5JектK, от6етEт6е==K< 74 котоDKе =47=4Gе=о 
дол6=оEт=ое л8Fо. 

2. �опуEк4етEO =47=4Gе=8е од=о7о дол6=оEт=о7о л8F4 от6етEт6е==K< 74 о5еEпеGе=8е $� 
=еEколLк8E D4д84F8о==KE о5Jекто6. 
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6 оD74=874F8OE E D4д84F8о==K<8 

о5Jект4<8 8 поDOдку уEт4=о6ле=8O 

уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 
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�ОК'���&, 
О� ���Л/.)�� �� �'��, � � ���&+  ����&�О��+% О�*�К&О�, 

��%О�/)�%!/ � О ������&�� 

 

1. � доку<е=те, опDеделONIе< пеDеGе=L 8 7D4=8FK D4д84F8о==KE о5Jекто6, =4EодOI8EEO 6 
оD74=874F88 (д4лее - доку<е=т, опDеделONI89 пеDеGе=L 8 7D4=8FK D4д84F8о==KE о5Jекто6), 
котоDK<8 <о7ут O6лOтLEO по<еIе=8O, EооDу6е=8O, 7д4=8O, 6 котоDKE оEуIеEт6лOетEO о5D4Iе=8е 
E  � л85о D47<еI4етEO 8 (8л8) MкEплу4т8DуетEO  � 8л8 �%, =4EодOI8EEO 6 оD74=874F88, 
Dеко<е=дуетEO 6клNG4тL EледуNI8е E6еде=8O: 

=48<е=о64=8е  � 8 �% (=4пD8<еD, 74<<4-теD4пе6т8GеEк89 4пп4D4т " окуE- ", �%  � N 2); 

=48<е=о64=8е D4д84F8о==о7о о5Jект4 (=4пD8<еD, 7д4=8е N 12, по<еIе=8е N 15 7д4=8O N 
4); 

кD4ткое оп8E4=8е 7D4=8FK D4д84F8о==о7о о5Jект4 (=4пD8<еD, 7D4=8F4 D4д84F8о==о7о 
о5Jект4 "�4<<4-уEт4=о6к4 " О!-1" пDоEод8т по пеD8<етDу по<еIе=8O N 7, D4Eполо6е==о7о 6 
7д4=88 N 1). 

2.  еко<е=дуетEO EоEт468тL 8 пD86еEт8 6 пD8ло6е=88 к доку<е=ту, опDеделONIе<у 
пеDеGе=L 8 7D4=8FK D4д84F8о==KE о5Jекто6, EEе<у 6 <4EHт45е E ук474=8е<: 

пеD8<етD4 теDD8тоD88 оD74=874F88; 

7D4=8F 8 EоEт464 D4д84F8о==KE о5Jекто6. 



3. � EлуG4е =4л8G8O 6 оD74=874F88 =еEколLк8E D4д84F8о==KE о5Jекто6 E6еде=8O о 7о=4E 8 
<еEт4E 8E D47<еIе=8O Dеко<е=дуетEO пDедEт46лOтL 6 68де E6од=о9 т45л8FK. 

4. � доку<е=т4E, опDеделONI8E пеDеGе=L 8 7D4=8FK D4д84F8о==KE о5Jекто6, 
D4Eполо6е==KE =4 теDD8тоD88 OдеD=о7о о5Jект4, Dеко<е=дуетEO ук47K64тL 8=6е=еD=Kе 8 
теE=8GеEк8е EDедEт64 D878GеEко9 74I8тK =4 пеD8<етDе оED4=Oе<KE 7о= OдеD=о7о о5Jект4, 6 
пDедел4E котоDKE D4Eпол474NтEO D4д84F8о==Kе о5JектK. 
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�' ��Л 

''�&� ��!&О��%О�����/ �О��Л,�+%  ����&�О��+% �!&О'��КО� 

 

1. �уD=4л уGет4 <еEто=4Eо6де=8O <о58лL=KE  � (д4лее - �уD=4л уGет4) Dеко<е=дуетEO 
оDоD<лOтL длO уGет4 =4л8G8O 8 пеDе<еIе=8O <о58лL=KE  � =4 D4д84F8о==о< о5Jекте. 

2. �уD=4л уGет4 Dеко<е=дуетEO оDоD<лOтL 6 68де т45л8FK Eо EледуNI8<8 полO<8 
(Eтол5F4<8): 

д4т4, 6Dе<O 6K=оE4 <о58лL=о7о  �; 

8=6е=т4D=K9 8л8 8=о9 8де=т8D8к4F8о==K9 =о<еD  �; 

D4<8л8O, 8<O, отGеEт6о D45от=8к4, котоDK9 полуG8л  �; 

оE=о64=8е, пD8G8=K 6K=оE4  �; 

<еEто пDо6еде=8O D45от E  �; 

д4т4, 6Dе<O пDедпол474е<о7о 6о76D4Iе=8O <о58лL=о7о  � =4 D4д84F8о==K9 о5Jект; 

подп8EL D45от=8к4, полуG86Hе7о <о58лL=K9  �; 

подп8EL D45от=8к4, 6Kд46Hе7о <о58лL=K9  �; 

д4т4, 6Dе<O D4кт8GеEко7о 6о76D4Iе=8O <о58лL=о7о  � =4 D4д84F8о==K9 о5Jект; 

подп8EL D45от=8к4, Eд46Hе7о <о58лL=K9  �; 

подп8EL D45от=8к4, пD8=O6Hе7о <о58лL=K9  �. 
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�ОК'���&+ 

(�ОЛ��О!&�+� ��!& 'К&��,  ��Л����&+), О� ���Л/.)�� 

�ОЛ��О!&�+� О�/����О!&� �� !О��Л� $���'�!КО� ��)�&+ 

 

1. �оку<е=тK (дол6=оEт=Kе 8=EтDукF88, Dе7л4<е=тK), опDеделONI8е дол6=оEт=Kе 
о5O74==оEт8 пеDEо=4л4 $� оD74=874F88, Dеко<е=дуетEO D47D454тK64тL 6 Eоот6етEт688 E 
тDе5о64=8O<8, уEт4=о6ле==K<8 оD74=о< упD46ле=8O 8EполL7о64=8е< 4то<=о9 M=еD788, 6 
6еде=88 котоDо7о =4Eод8тEO оD74=874F8O. 

2. !оEт46 8 EодеD64=8е доку<е=то6, 6 котоDKE ук47K64NтEO дол6=оEт=Kе о5O74==оEт8 
пеDEо=4л4 $�, Dеко<е=дуетEO Eо7л4Eо6K64тL E Eоот6етEт6уNI8< оD74=о< упD46ле=8O 
8EполL7о64=8е< 4то<=о9 M=еD788. 

3. �оку<е=тK (дол6=оEт=Kе 8=EтDукF88, Dе7л4<е=тK), опDеделONI8е дол6=оEт=Kе 
о5O74==оEт8 E8л оED4=K, Dеко<е=дуетEO Eо7л4Eо6K64тL E Dуко6од8теле< оD74=874F88 8л8 л8Fо<, 
8< упол=о<оGе==K<. 
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уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 

о5Jекто6", ут6еD6де==о<у пD8к47о< 
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1. �уD=4л уGет4 6Kд4G8 8 пD8е<4 клNGе9 от 7д4=89, по<еIе=89 E  � 8 Я�, подле64I8<8 
уGету 6 !�'К  � 8  �О, E  �, �% (д4лее - 6уD=4л уGет4 6Kд4G8 8 пD8е<4 клNGе9) Dеко<е=дуетEO 
оDоD<лOтL 6 68де т45л8FK Eо EледуNI8<8 полO<8 (Eтол5F4<8): 

д4т4, 6Dе<O, ко7д4 5Kл8 67OтK клNG8; 

=о<еD 7д4=8O (по<еIе=8O); 

D4<8л8O 8 8=8F84лK D45от=8к4, 6Kд46Hе7о клNG8; 

подп8EL D45от=8к4, 6Kд46Hе7о клNG8; 

D4<8л8O 8 8=8F84лK D45от=8к4, полуG86Hе7о клNG8; 

подп8EL D45от=8к4, полуG86Hе7о клNG8; 

6Dе<O, ко7д4 клNG8 5Kл8 Eд4=K 6 <еEто 8E ED4=е=8O; 

D4<8л8O 8 8=8F84лK D45от=8к4, Eд46Hе7о клNG8; 

подп8EL D45от=8к4, Eд46Hе7о клNG8; 

D4<8л8O 8 8=8F84лK D45от=8к4, полуG86Hе7о клNG8 =4 ED4=е=8е; 

подп8EL D45от=8к4, полуG86Hе7о клNG8 =4 ED4=е=8е. 

2. �уD=4л уGет4 6Kд4G8 8 пD8е<4 клNGе9 Dеко<е=дуетEO 6еEт8 E 74пол=е=8е< 6EеE е7о 
поле9, Gто5K 6 EлуG4е =ео5Eод8<оEт8 5Kл4 6о7<о6=оEтL 8EполL7о64тL Eдел4==Kе 6 =е< 74п8E8 
длO D4EEледо64=8O =еE4=кF8о=8Dо64==KE де9Eт689. 
 

 

 

 

 

�D8ло6е=8е N 12 

к Dуко6одEт6у по 5е7оп4E=оEт8 

пD8 8EполL7о64=88 4то<=о9 M=еD788 

" еко<е=д4F88 по EоEт46у, EодеD64=8N 

8 поDOдку D47D45отк8 о5Jекто6KE 

доку<е=то6 по D878GеEко9 74I8те 

6 оD74=874F8OE E D4д84F8о==K<8 

о5Jект4<8 8 поDOдку уEт4=о6ле=8O 

уDо6=е9 D878GеEко9 74I8тK D4д84F8о==KE 

о5Jекто6", ут6еD6де==о<у пD8к47о< 

$едеD4лL=о9 Eлу65K по Mколо78GеEко<у, 
теE=оло78GеEко<у 8 4то<=о<у =4д7оDу 

от 4 4пDелO 2024 7. N 121 

 

�ОК'���&, 



'!&����Л���.)�� К�&��О �. К���О�О ��К +&О�О 

 ���О�'КЛ���О�О �!&О'��К� 

 

1. � EоEт46 доку<е=т4, уEт4=46л864NIе7о к4те7оD8N к46до7о � �, Dеко<е=дуетEO 6клNG4тL 
д4==Kе п4EпоDто6 (DоD<улODо6) � �, пDедEт46ле==Kе пDедпD8Oт8е<-877ото68теле<. 

2. � EлуG4OE ко7д4 пDедпD8Oт8е<-877ото68теле< к4те7оD8O � � =е уEт4=о6ле=4, 6 EоEт46 
доку<е=т4 Dеко<е=дуетEO 6клNG4тL Dе7улLт4тK D45отK ко<8EE88 по уEт4=о6ле=8N к4те7оD88 � �, 
ут6еD6де==о9 DеHе=8е< Dуко6од8телO оD74=874F88. �D8 Mто< Dеко<е=дуетEO доку<е=т4лL=о 
D8кE8Dо64тL поEледо64телL=оEтL 6Kпол=Oе<KE де9Eт689, пD86од8тL D4EGетK пок474телO A/D, =4 
оE=о6е котоDо7о опDеделOетEO к4те7оD8O � � по D4д84F8о==о9 оп4E=оEт8. 
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1. � доку<е=те, уEт4=46л864NIе< уDо6=8 $� D4д84F8о==KE о5Jекто6, 6 68де 
Eоот6етEт6уNIе7о ут6еD6де==о7о DеHе=8O Dеко<е=дуетEO пD86од8тL Dе7улLт4тK 4=4л8т8GеEко9 
D45отK ко<8EE88, =47=4Gе==о9 Dуко6од8теле< оD74=874F88, по уEт4=о6ле=8N уDо6=е9 $� длO 
к46до7о D4д84F8о==о7о о5Jект4. 

2.  47D45отку доку<е=т4, уEт4=46л864NIе7о уDо6=8 $� D4д84F8о==KE о5Jекто6, 
Dеко<е=дуетEO пDо6од8тL поEле к4те7оD8Dо64=8O  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О, 6клNG4O 
� �, по D4д84F8о==о9 оп4E=оEт8 E уGето< тDе5о64=89 7л46K III ��-034-23. 

3. � доку<е=те, уEт4=46л864NIе< уDо6=8 $� D4д84F8о==KE о5Jекто6, Dеко<е=дуетEO 6 
т45л8G=о9 DоD<е пD86еEт8 пол=K9 пеDеGе=L D4д84F8о==KE о5Jекто6 оD74=874F88 E ук474=8е< 
уEт4=о6ле==KE уDо6=е9 $�. 
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1. �л4= $� Dеко<е=дуетEO D47D454тK64тL к4к отделL=K9 доку<е=т, пDед=47=4Gе==K9 длO 
оп8E4=8O <еD, E8л 8 EDедEт6 !$�, Dу=кF8о=8Dо64=8O теE=8GеEк8E EDедEт6 8 де9Eт689 пеDEо=4л4 
$� 6о 6EеE пDедуE<отDе==KE Hт4т=KE 8 GDе76KG49=KE E8ту4F8OE, ут6еD6д4е<K9 Dуко6од8теле< 
оD74=874F88. � пл4= $� Dеко<е=дуетEO 6клNG4тL: 

E4D4ктеD 6о7<о6=KE у7Dо7 7лоу<KHле==KE де9Eт689 =4DуH8теле9 6 от=оHе=88  �, Я�, 
уG8тK64е<KE 6 !�'К  � 8  �О,  � 8 �% =4 о5Jект4E; 

оE=о6=Kе Fел8 о5еEпеGе=8O $�; 

оE=о6=Kе 74д4G8 !$�; 

пDедуE<отDе==Kе =4 D4д84F8о==KE о5Jект4E оE=о6=Kе оD74=874F8о==Kе <еDK, 
теE=8GеEк8е EDедEт64 8 де9Eт68O пеDEо=4л4 $� длO 6Kпол=е=8O к46до9 87 74д4G !$�. 

2. � пD8ло6е=8е к пл4=у $� Dеко<е=дуетEO 6клNG4тL 7D4D8GеEкое 87о5D46е=8е пл4=4 
(EEе<K) теDD8тоD88 оD74=874F88 8 D47<еIе=8O ее D4д84F8о==KE о5Jекто6 8 D47<еIе=8O 
8=6е=еD=о-теE=8GеEк8E EDедEт6 !$�. 

3.  еко<е=дуетEO 6 пл4= $� 6клNG4тL EледуNI8е D47делK: 

" 4Eполо6е=8е D4д84F8о==KE о5Jекто6 =4 теDD8тоD88 оD74=874F88"; 

"Оп8E4=8е 8 E4D4ктеD8Eт8к8  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О,  �, �% длO к46до7о 
D4д84F8о==о7о о5Jект4"; 

" 47<еIе=8е  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О,  �, �% =4 D4д84F8о==о< о5Jекте, 
поDOдок D45отK E =8<8 пD8 8EполL7о64=88 по =47=4Gе=8N"; 

"!оEт46 ко<плекE4 8=6е=еD=о-теE=8GеEк8E EDедEт6 $� 8 D47<еIе=8е е7о Mле<е=то6 8 
EоEт46=KE G4Eте9"; 

"!оEт46 пеDEо=4л4 $�"; 

"�оDOдок о5еEпеGе=8O доEтуп4 =4 D4д84F8о==Kе о5JектK"; 

"�еDK по оD74=874F88 6748<оде9Eт68O 8 опо6еIе=8O Dуко6одEт64 оD74=874F88, пеDEо=4л4 
$� 6 Hт4т=KE 8 GDе76KG49=KE E8ту4F8OE"; 

"�оDOдок де9Eт689 пеDEо=4л4 $� 6 Eоот6етEт688 E пл4=о< <еDопD8Oт89 по 74I8те 
пеDEо=4л4 6 EлуG4е D4д84F8о==о9 464D88"; 

"�еDK по оD74=874F88 6748<оде9Eт68O Dуко6одEт64 оD74=874F88 E E8л4<8 оED4=K 6 



Hт4т=KE 8 GDе76KG49=KE E8ту4F8OE"; 

"�еDеGе=L ко<пе=E8DуNI8E <еD"; 

"�еDK по поддеD64=8N к64л8D8к4F88 пеDEо=4л4 $�"; 

"�оDOдок пDо6еде=8O о5Jекто6о7о ко=тDолO 74 EоEтоO=8е< !$�"; 

"�оDOдок о5еEпеGе=8O $� <о58лL=KE  � 6=е теDD8тоD88 D4д84F8о==о7о о5Jект4 8 �О�"; 

"�оDOдок пDедEт46ле=8O у6едо<ле=8O о =еE4=кF8о=8Dо64==KE де9Eт68OE =4DуH8теле9". 

4. � D47деле " 4Eполо6е=8е D4д84F8о==KE о5Jекто6 =4 теDD8тоD88 оD74=874F88" 
Dеко<е=дуетEO пDедEт46лOтL EледуNI8е E6еде=8O: 

оп8E4=8е <еEтополо6е=8O D4д84F8о==KE о5Jекто6 6 D49о=е 8E D47<еIе=8O (=4пD8<еD, =4 
теDD8тоD88 =4Eеле==о7о пу=кт4, отделL=о9 теDD8тоD88 пDо<KHле==о9 плоI4дк8 оD74=874F88); 

оп8E4=8е <еEт=оEт8 6окDу7 D4д84F8о==KE о5Jекто6, 6клNG4O 5л87ле64I8е о5JектK 8=о7о 
=47=4Gе=8O, E тоGк8 7Dе=8O 6о7<о6=о7о 6л8O=8O =4 под7ото6ку к Eо6еDHе=8N пDо=8к=о6е=8O =4 
D4д84F8о==Kе о5JектK 8 де9Eт689 =4DуH8теле9 =4 8E теDD8тоD88. 

5. � D47деле "Оп8E4=8е 8 E4D4ктеD8Eт8к8  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О,  �, �% длO 
к46до7о D4д84F8о==о7о о5Jект4" Dеко<е=дуетEO пDедEт46лOтL EледуNIуN 8=DоD<4F8N: 

оп8E4=8е 8 оE=о6=Kе E4D4ктеD8Eт8к8  �, Я�, уG8тK64е<Kе 6 !�'К  � 8  �О  � 8 �%, 7д4=89 
8 по<еIе=89 8E D47<еIе=8O 8 MкEплу4т4F88; 

к4те7оD8O D4д84F8о==KE о5Jекто6 по поте=F84лL=о9 D4д84F8о==о9 оп4E=оEт8 E уGето< 
D4д84F8о==KE поEледEт689 Eо6еDHе=8O д86еDE88; 

к4те7оD8O 74кDKтKE D4д8о=укл8д=KE 8EтоG=8ко6 по поте=F84лL=о9 D4д84F8о==о9 
оп4E=оEт8; 

уEт4=о6ле==K9 уDо6е=L $� D4д84F8о==KE о5Jекто6. 

6. � D47деле " 47<еIе=8е  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О,  �, �% =4 D4д84F8о==о< 
о5Jекте, поDOдок D45отK E =8<8 пD8 8EполL7о64=88 по =47=4Gе=8N" Dеко<е=дуетEO пDедEт46лOтL 
EледуNI8е E6еде=8O: 

D4Eполо6е=8е <еEт D47<еIе=8O  �, Я�, уG8тK64е<Kе 6 !�'К  � 8  �О  � 8 �% =4 
D4д84F8о==о< о5Jекте; 

к4те7оD8O D4д84F8о==KE о5Jекто6 по D4д84F8о==о9 оп4E=оEт8 E уGето< D4д84F8о==KE 
поEледEт689 Eо6еDHе=8O д86еDE88; 

к4те7оD8O  � по D4д84F8о==о9 оп4E=оEт8. 

7. � D47деле "!оEт46 ко<плекE4 8=6е=еD=о-теE=8GеEк8E EDедEт6 $� 8 D47<еIе=8е е7о 
Mле<е=то6 8 EоEт46=KE G4Eте9" Dеко<е=дуетEO пDедEт46лOтL EледуNI8е E6еде=8O: 

EоEт46 8 Dу=кF8о=4лL=4O EEе<4 ко<плекE4 8=6е=еD=о-теE=8GеEк8E EDедEт6 $�, 
6клNG4NIе7о EDедEт64 оED4==о9 E87=4л874F88, тDе6о6=о-6K7K6=о9 E87=4л874F88, ко=тDолO 8 
упD46ле=8O доEтупо<, опт8ко-MлектDо==о7о =45лNде=8O, E5оD4 8 о5D45отк8 8=DоD<4F88, E6O78, 
MлектDоп8т4=8O 8 оE6еIе=8O, D878GеEк8е 54DLеDK 8 8=6е=еD=Kе EDедEт64 $�; 

D47<еIе=8е 8=6е=еD=о-теE=8GеEк8E EDедEт6 $� =4 о5Jект4E (пеD8<етD4E 7о= D47<еIе=8O 



 �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О  �, �% =4 D4д84F8о==о< о5Jекте); 

7д4=8е (по<еIе=8е) D47<еIе=8O Fе=тD4лL=о7о пу=кт4 упD46ле=8O 8 (8л8) пулLт4 (пулLто6) 
упD46ле=8O !$� 8 оE=4Iе==оEтL е7о 8=6е=еD=о-теE=8GеEк8<8 EDедEт64<8 $�; 

7д4=8O (по<еIе=8O) ко=тDолL=о-пDопуEк=KE пу=кто6 длO доEтуп4 лNде9 8 тD4=EпоDт=KE 
EDедEт6; 

EоEт46 теE=8GеEк8E EDедEт6 $� 8 Dу=кF8о=8Dо64=8е к46до9 87 подE8Eте< !$�. 

8. � D47деле "!оEт46 пеDEо=4л4 $�" Dеко<е=дуетEO пDедEт46лOтL EледуNI8е E6еде=8O: 

от6етEт6е==ое 74 $� дол6=оEт=ое л8Fо 4д<8=8EтD4F88 оD74=874F88; 

от6етEт6е==Kе 74 $� D4д84F8о==KE о5Jекто6 л8F4; 

де6уD=K9 пеDEо=4л E8л оED4=K; 

опеD4тоDK пу=кт4 упD46ле=8O 8 (8л8) пулLт4 упD46ле=8O !$�; 

пеDEо=4л теE=8GеEко9 MкEплу4т4F88 8=6е=еD=о-теE=8GеEк8E EDедEт6 $�. 

9. � D47деле "�оDOдок о5еEпеGе=8O доEтуп4 =4 D4д84F8о==Kе о5JектK" Dеко<е=дуетEO 
пDедEт46лOтL EледуNI8е E6еде=8O: 

поDOдок оDоD<ле=8O 8 6Kд4G8 пDопуEко6; 

поDOдок 8 EDедEт64 пDо6еDк8 пD46 доEтуп4 л8F 8 тD4=EпоDт=KE EDедEт6 =4 теDD8тоD8N 
D4д84F8о==о7о о5Jект4, 6 е7о 7о=K, 7д4=8O 8 по<еIе=8O; 

Dу=кF8о=8Dо64=8е E8Eте<K ко=тDолO 8 упD46ле=8O доEтупо<; 

<еDK ко=тDолO 74 отEутEт68е< поEтоDо==8E л8F =4 D4д84F8о==KE о5Jект4E; 

поDOдок уGет4, ED4=е=8O 5л4=ко6 пDопуEко6 8 8EполL7о64==KE пDопуEко6, 8E у=8Gто6е=8O; 

поDOдок от<е=K пDопуEко6; 

<еDK уGет4 л8F 8 тD4=EпоDт=KE EDедEт6, пеDеEек4NI8E ко=тDолL=о-пDопуEк=Kе пу=ктK. 

10. � D47деле "�еDK по оD74=874F88 6748<оде9Eт68O 8 опо6еIе=8O Dуко6одEт64 
оD74=874F88, пеDEо=4л4 $� 6 Hт4т=KE 8 GDе76KG49=KE E8ту4F8OE" (=4 OдеD=KE о5Jект4E 
допуEк4етEO дел4тL EEKлку =4 отделL=о D47D45от4==Kе доку<е=тK по ук474==K< 6опDоE4<) 
Dеко<е=дуетEO пDедEт46лOтL EледуNI8е E6еде=8O: 

пеDеGе=L Hт4т=KE 8 GDе76KG49=KE E8ту4F89 =4 D4д84F8о==о< о5Jекте, E6O74==KE E 
D47л8G=K<8 68д4<8 пDо8EHеEт689 (=4пD8<еD, D4д84F8о==4O 464D8O, по64D, теE=8GеEк4O 464D8O, 
отклNGе=8е MлектDоM=еD788, теDDоD8Eт8GеEк89 4кт); 

оп8E4=8е поDOдк4 де9Eт689 пеDEо=4л4 6 Hт4т=KE 8 GDе76KG49=KE E8ту4F8OE E FелLN 
о5еEпеGе=8O $�  �,  � 8 �% 8 пDеEеGе=8O попKток Eо6еDHе=8O =еE4=кF8о=8Dо64==KE де9Eт689; 

оп8E4=8е поDOдк4 де9Eт689 дол6=оEт=KE л8F пеDEо=4л4 $� поEле о5=4Dу6е=8O пDоп468 
 �, <о58лL=о7о  � 8л8 Mле<е=т4 � � длO 8E по8Eк4 8 6о76D4Iе=8O. 

11. � D47деле "�оDOдок де9Eт689 пеDEо=4л4 $� 6 Eоот6етEт688 E пл4=о< <еDопD8Oт89 по 
74I8те пеDEо=4л4 6 EлуG4е D4д84F8о==о9 464D88" Dеко<е=дуетEO пDедEт46лOтL оп8E4=8е 
поDOдк4 де9Eт689 дол6=оEт=KE л8F пеDEо=4л4 $� 6 EлуG4е 6о7=8к=о6е=8O D4д84F8о==о9 464D88. 



12. � D47деле "�еDK по оD74=874F88 6748<оде9Eт68O Dуко6одEт64 оD74=874F88 E E8л4<8 
оED4=K 6 Hт4т=KE 8 GDе76KG49=KE E8ту4F8OE" Dеко<е=дуетEO пDедEт46лOтL EледуNI8е E6еде=8O: 

поDOдок 6748<оде9Eт68O <е6ду пеDEо=4ло< $�, =4EодOI8<EO 6 D47л8G=KE тоGк4E =4 
D4д84F8о==KE о5Jект4E, 6 7468E8<оEт8 от тDе6о6=KE E8ту4F89, E6O74==KE E о5=4Dу6е=8е< 
=4DуH8теле9 8л8 отк47о6 теE=8GеEк8E EDедEт6 $�; 

оп8E4=8е пD8=F8по6 пD8<е=е=8O 8 поDOдк4 8EполL7о64=8O EDедEт6 E6O78 6 7о=4E, 7д4=8OE 8 
по<еIе=8OE о5Jект4, =4 пу=кте упD46ле=8O !$�, =4 теDD8тоD88 о5Jекто6; 

оп8E4=8е поDOдк4 у6едо<ле=8O MкEплу4т8DуNIе9 оD74=874F88, оD74=4 упD46ле=8O 
8EполL7о64=8е< 4то<=о9 M=еD788, оD74=4 7оEуд4DEт6е==о7о Dе7ул8Dо64=8O 5е7оп4E=оEт8, 
<еEт=KE оD74=о6 6л4Eт8 о пDо8EHеEт68OE, E6O74==KE E  � 8л8  �. 

13. � D47деле "�еDеGе=L ко<пе=E8DуNI8E <еD" Dеко<е=дуетEO пDедEт46лOтL пеDеGе=L 
6о7<о6=KE =4DуHе=89 6 Dу=кF8о=8Dо64=88 8=6е=еD=о-теE=8GеEк8E EDедEт6 $� 8 
ко<пе=E8DуNI8E <еD, котоDKе 5удут пD8=8<4тLEO до <о<е=т4 8E уEтD4=е=8O. 

14. � D47деле "�еDK по поддеD64=8N к64л8D8к4F88 пеDEо=4л4 $�" Dеко<е=дуетEO 
пDедEт46лOтL EледуNI8е E6еде=8O: 

EодеD64=8е пDо7D4<<K под7ото6к8 пеDEо=4л4 $� (пDед<етK о5уGе=8O, оE=о6=Kе 6опDоEK 
длO пDо6еDк8 7=4=89); 

поDOдок оD74=874F88 пеD68G=о7о о5уGе=8O пеDEо=4л4 $� =4 EпеF84л878Dо64==KE куDE4E 8 
путе< под7ото6к8 8 E4<опод7ото6к8 =4 о5Jекте; 

поDOдок оEуIеEт6ле=8O пDо6еDк8 7=4=89 8 под7ото6ле==оEт8 пеDEо=4л4 $�; 

поDOдок пDо6еде=8O пеD8од8GеEко9 пеDепод7ото6к8; 

поDOдок уGет4 E6еде=89 о пDоEо6де=88 о5уGе=8O, под7ото6к8 8 пеDепод7ото6к8. 

15. � D47деле "�оDOдок пDо6еде=8O о5Jекто6о7о ко=тDолO 74 EоEтоO=8е< !$�" 
Dеко<е=дуетEO пDедEт46лOтL EледуNI8е E6еде=8O: 

пеD8од8G=оEтL 8 поDOдок 6Kпол=е=8O ко=тDолO 74 EоEтоO=8е< !$� E пDо6еDко9 
6Kпол=е=8O Dе7ул8DуNI8E тDе5о64=89 $�  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О,  � 8 �%. 

16. � D47деле "�оDOдок о5еEпеGе=8O $� <о58лL=KE  � 6=е теDD8тоD88 D4д84F8о==о7о 
о5Jект4 8 7о=K о7D4=8Gе==о7о доEтуп4" Dеко<е=дуетEO пDедEт46лOтL EледуNI8е E6еде=8O: 

пDедуE<отDе==Kе оE=о6=Kе оD74=874F8о==Kе <еDK, теE=8GеEк8е EDедEт64 8 де9Eт68O 
пеDEо=4л4 $� длO 6Kпол=е=8O 74д4G $� пD8 =4Eо6де=88 <о58лL=KE  � 6=е теDD8тоD88 
D4д84F8о==о7о о5Jект4 8 7о=K о7D4=8Gе==о7о доEтуп4; 

оп8E4=8е поDOдк4 де9Eт689 пеDEо=4л4 6 Hт4т=KE 8 GDе76KG49=KE E8ту4F8OE E FелLN 
о5еEпеGе=8O $� 8 пDеEеGе=8O попKток Eо6еDHе=8O =еE4=кF8о=8Dо64==KE де9Eт689 E 
<о58лL=K<8  �. 

17. � D47деле "�оDOдок пDедEт46ле=8O у6едо<ле=8O о =еE4=кF8о=8Dо64==KE де9Eт68OE 
=4DуH8теле9" Dеко<е=дуетEO пDедEт46лOтL EледуNI8е E6еде=8O: оп8E4=8е поDOдк4 у6едо<ле=8O 
MкEплу4т8DуNIе9 оD74=874F88, оD74=4 упD46ле=8O 8EполL7о64=8е< 4то<=о9 M=еD788, оD74=4 
7оEуд4DEт6е==о7о Dе7ул8Dо64=8O 5е7оп4E=оEт8, теDD8тоD84лL=KE оD74=о6 5е7оп4E=оEт8 8 
теDD8тоD84лL=KE оD74=о6 �8=8EтеDEт64 6=утDе==8E дел  оEE89Eко9 $едеD4F88 по <еEту 

=4Eо6де=8O D4д84F8о==о7о о5Jект4, <еEт=KE оD74=о6 6л4Eт8 о пDо8EHеEт68OE, E6O74==KE E  � 
8л8  �, 6 то< G8Eле 8 6 от=оHе=88  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О,  �, �% 6 Eоот6етEт688 E 



7л46о9 VI ��-034-23. 
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�����О���!&��/  'КО�О�!&�� О ������&�� ! !�Л��� О% ��+ 

� (&�&�+% � ' ���+'���+% !�&'�&�/% 

 

1. �л4= 6748<оде9Eт68O Dуко6одEт64 оD74=874F88 E E8л4<8 оED4=K 6 Hт4т=KE 8 
GDе76KG49=KE E8ту4F8OE (д4лее - �л4= 6748<оде9Eт68O) Dеко<е=дуетEO D47D454тK64тL E FелLN 
пD8<е=е=8O Eо7л4Eо64==KE де9Eт689 Dуко6од8телO оD74=874F88 8 пеDEо=4л4 $� 6 Hт4т=KE 8 
GDе76KG49=KE E8ту4F8OE. 

2. � �л4= 6748<оде9Eт68O Dеко<е=дуетEO 6клNG4тL EледуNIуN 8=DоD<4F8N: 

пеDеGе=L Hт4т=KE 8 GDе76KG49=KE E8ту4F89, =4 котоDKе D4EпDоEтD4=OетEO де9Eт68е �л4=4 
6748<оде9Eт68O; 

пеDеGе=L доку<е=то6, котоDK<8 Dе7л4<е=т8Dо64=K де9Eт68O уG4Eт=8ко6 длO Hт4т=KE 8 
GDе76KG49=KE E8ту4F89; 

пD464, о5O74==оEт8, от6етEт6е==оEтL 6748<оде9Eт6уNI8E EтоDо= длO Hт4т=KE 8 
GDе76KG49=KE E8ту4F89; 

поDOдок де9Eт689 EтоDо= длO к46до9 Hт4т=о9 8 GDе76KG49=о9 E8ту4F88; 

оD74=874F8O упD46ле=8O 8 E6O78 6 Hт4т=KE 8 GDе76KG49=KE E8ту4F8OE. 

3. �еDеGе=L Hт4т=KE 8 GDе76KG49=KE E8ту4F89 Dеко<е=дуетEO опDеделOтL E уGето< 
оEо5е==оEте9 теE=оло78GеEк8E пDоFеEEо6 6 оD74=874F88, 4 т4к6е ее <еEтополо6е=8е<. 
 еко<е=дуетEO пD86од8тL опDеделе=8е (оп8E4=8е, EодеD64=8е) Hт4т=о9 8 GDе76KG49=о9 
E8ту4F88, пеDеGе=L 6EеE DеH4е<KE длO д4==о9 E8ту4F88 74д4G, 4 т4к6е пеDеGе=L 
6748<оде9Eт6уNI8E EтоDо= (оD74=о6, оD74=874F89, подD47деле=89) 8 8E 74д4G8 длO к46до9 
ко=кDет=о9 E8ту4F88. 
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�ОЛО����� 

О  �� �(�&�Л,�О� !�!&��� �О!&'��  ��О&��КО� (�� !О��Л�), 
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1. �оло6е=8е о D47DеH8телL=о9 E8Eте<е доEтуп4 D45от=8ко6 (пеDEо=4л4), 
ко<4=д8Dо64==KE л8F, поEет8теле9 8 тD4=EпоDт=KE EDедEт6 =4 D4д84F8о==Kе о5JектK (д4лее - 
поло6е=8е о D47DеH8телL=о9 E8Eте<е доEтуп4) Dеко<е=дуетEO D47D454тK64тL 6 68де отделL=о7о 
доку<е=т4, ут6еD6де==о7о Dуко6од8теле< оD74=874F88. 

2. � поло6е=8е о D47DеH8телL=о9 E8Eте<е доEтуп4 Dеко<е=дуетEO 6клNG4тL EледуNI8е 
E6еде=8O: 

поDOдок уEт4=о6ле=8O 8 пеDеGе=L к4те7оD89 пеDEо=4л4 D4д84F8о==KE о5Jекто6, 8<еNI8E 
пD46о доEтуп4 к  �, Я�, уG8тK64е<KE 6 !�'К  � 8  �О,  � 6 �%; 

пеDеGе=L D4д84F8о==KE о5Jекто6, к котоDK< 8<еет пD46о доEтуп4 пеDEо=4л к46до9 
к4те7оD88; 

кD8теD88 =ео5Eод8<оEт8 доEтуп4 пеDEо=4л4 D4д84F8о==KE о5Jекто6 к  �,  �, 6 �% 
(=4пD8<еD, пDо876одEт6е==4O =ео5Eод8<оEтL, оDоD<ле=8е допуEк4 к E6еде=8O<, EодеD64I8< 
7оEуд4DEт6е==уN т49=у, пD8к47 Dуко6од8телO оD74=874F88); 

пDоFедуDK доEтуп4 пеDEо=4л4 =4 D4д84F8о==Kе о5JектK оD74=874F88; 

поDOдок оD74=874F88 доEтуп4 D45от=8ко6 8 тD4=EпоDт=KE EDедEт6 EтоDо==8E оD74=874F89 
=4 теDD8тоD8N D4д84F8о==KE о5Jекто6; 

поDOдок от<е=K доEтуп4 =4 D4д84F8о==K9 о5Jект. 
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1. �=EтDукF8N о пDопуEк=о< Dе68<е (д4лее - �=EтDукF8O) Dеко<е=дуетEO D47D454тK64тL 6 
Eоот6етEт688 E DоD<4<8 доку<е=то6, уEт4=о6ле==KE тDе5о64=8O<8 оD74=4 упD46ле=8O 
8EполL7о64=8е< 4то<=о9 M=еD788, 6 6еде=88 котоDо7о =4Eод8тEO оD74=874F8O. 

2. � EодеD64=88 �=EтDукF88 Dеко<е=дуетEO ук47K64тL о5O74==оEт8 Eлу65 8 дол6=оEт=KE 
л8F, о5еEпеG864NI8E оED4=у D4д84F8о==KE о5Jекто6, 6клNG4O: 

уEт4=о6ле=8е пDопуEк=о7о Dе68<4 =4 D4д84F8о==KE о5Jект4E; 

пDо6еде=8е к4те7оD8Dо64=8O D4д84F8о==KE о5Jекто6 8 уEт4=о6ле=8е уDо6=е9 8E $� E 
пDедEт46ле=8е< Eоот6етEт6уNI8E доку<е=то6 =4 D4EE<отDе=8е 8 ут6еD6де=8е Dуко6од8телN 
оD74=874F88; 

о5еEпеGе=8е поEто6 оED4=K 6уD=4л4<8, к=874<8 уGет4, 5л4=к4<8, MлектDо==K<8 к4Dт4<8 
доEтуп4; 

поDOдок пDо6еде=8O Eо6<еEт=о E E8л4<8 оED4=K тDе=8Dо6ок 6 FелOE отD45отк8 де9Eт689 
пD8 =еE4=кF8о=8Dо64==KE де9Eт68OE 6 от=оHе=88  � 8  �. 

3. � �=EтDукF88 Dеко<е=дуетEO ук47K64тL о5O74==оEт8 E8л оED4=K оD74=874F88, 6клNG4O: 

оEуIеEт6ле=8е оED4=K D4д84F8о==KE о5Jекто6 6 Eоот6етEт688 E ут6еD6де==K<8 
Dуко6од8теле< оD74=874F88 уDо6=O<8 $�; 

оEуIеEт6ле=8е пDопуEк=о7о Dе68<4 6 Eоот6етEт688 E ут6еD6де==о9 �=EтDукF8е9; 

оEуIеEт6ле=8е 6748<оде9Eт68O E ���, $!�, �Ч! =4 <еEт=о< уDо6=е. 

4. � �=EтDукF88 Dеко<е=дуетEO оп8E4тL поDOдок 6EкDKт8O 8 74кDKт8O по<еIе=89 
D4д84F8о==KE о5Jекто6 E уGето< Dе68<4 8 E4D4ктеD4 D45отK E  �, Я�, уG8тK64е<KE 6 !�'К  � 8 
 �О,  �. 

5. � �=EтDукF88 Dеко<е=дуетEO оп8E4тL поDOдок де9Eт689 пD8 =4DуHе=88 пDопуEк=о7о 
Dе68<4, 4 т4к6е пD8 6о7=8к=о6е=88 GDе76KG49=KE E8ту4F89, E6O74==KE E 8EполL7о64=8е<  �, 
Я�, уG8тK64е<KE 6 !�'К  � 8  �О,  �. 
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1. �оDOдок пD8<е=е=8O пD468л4 д6уE л8F (д4лее - �оDOдок) =4 D4д84F8о==KE о5Jект4E 
оD74=874F88 Dеко<е=дуетEO D47D454тK64тL 6 Eоот6етEт688 E тDе5о64=8O<8 оD74=4 упD46ле=8O 
8EполL7о64=8е< 4то<=о9 M=еD788, 6 6еде=88 котоDо7о =4Eод8тEO оD74=874F8O. 

2. � EодеD64=8е �оDOдк4 оD74=874F88 Dеко<е=дуетEO 6клNG4тL пеDеGе=L D4д84F8о==KE 
о5Jекто6 E уDо6=е< $� "�", =4 котоDKE D47<еIе=K  � пеD6о9 к4те7оD88 по D4д84F8о==о9 
оп4E=оEт8 E пок474теле< 4кт86=оEт8 A/D > 1 000 8 7де 6Kпол=е=8е пD468л4 д6уE л8F O6лOетEO 
о5O74телL=K<. 

3. � EодеD64=88 �оDOдк4 Dеко<е=дуетEO опDеделOтL пDоFедуDK 6EкDKт8O 8 74кDKт8O 
7д4=89 (EооDу6е=89, по<еIе=89) 8 поEт4=о6к8 8E под оED4=у по пD468лу д6уE л8F, 
о5еEпеG864NI8E D878GеEкуN =е6о7<о6=оEтL од=о7о Gело6ек4 6EкDKтL (74кDKтL) по<еIе=8е 8л8 
=4Eод8тLEO 6 =е< 5е7 6Kд4G8 E87=4л4 тDе6о78. 

4. � EлуG4е еEл8 Dуко6од8теле< D4д84F8о==о7о о5Jект4 пD8=Oто DеHе=8е о5 8EполL7о64=88 
пD468л4 д6уE л8F пD8 пDо6еDке тD4=EпоDт=KE EDедEт6, 6Kе764NI8E 74 пDеделK D4д84F8о==о7о 
о5Jект4, 4 т4к6е длO ко=тDолO 6K6о78<KE ко=те9=еDо6, е<коEте9, 6 �оDOдке Dеко<е=дуетEO 
опDедел8тL поDOдок пD8<е=е=8O д4==о7о пD468л4 6 FелOE 6KO6ле=8O =еE4=кF8о=8Dо64==о7о 
6K6о74 D4д8о4кт86=KE <4теD84ло6. 
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�' ��Л ''�&� ��!��К&�О�� О����+% ���!&��� �� '(�&�Л�� 

 

1. � 6уD=4ле уGет4 =еE4=кF8о=8Dо64==KE де9Eт689 =4DуH8теле9 (д4лее - �уD=4л) 
Dеко<е=дуетEO D8кE8Dо64тL D4ктK 6KO6ле=8O =еE4=кF8о=8Dо64==KE де9Eт689, к котоDK< 
от=оEOтEO Eо6еDHе=8е (попKтк4 Eо6еDHе=8O): 

=еE4=кF8о=8Dо64==о7о доEтуп4 =4 D4д84F8о==Kе о5JектK; 



=еE4=кF8о=8Dо64==о7о пDо=оE4 (пDо6о74) 74пDеIе==KE пDед<ето6 =4 теDD8тоD8N 
D4д84F8о==KE о5Jекто6; 

6K6од4 87 EтDоO 8л8 =4DуHе=8O Dу=кF8о=8Dо64=8O 8=6е=еD=о-теE=8GеEк8E EDедEт6 $�. 

2. � �уD=4ле Dеко<е=дуетEO отD464тL EледуNIуN 8=DоD<4F8N: 

д4ту 8 6Dе<O о5=4Dу6е=8O Eо6еDHе=8O (попKтк8 Eо6еDHе=8O) =еE4=кF8о=8Dо64==KE 
де9Eт689; 

т8п =еE4=кF8о=8Dо64==KE де9Eт689; 

о5Jект 6о7де9Eт68O Eо EтоDо=K =4DуH8телO (=4пD8<еD,  �, Я�, уG8тK64е<Kе 6 !�'К  � 8 
 �О,  �, �%, 74I8т=Kе ко=EтDукF88  �, D878GеEк8е 54DLеDK, теE=8GеEк8е EDедEт64 $�, пеDEо=4л 
$� 8л8 пеDEо=4л о5Jект4); 

пD8=OтKе <еDK по Dе478Dо64=8N =4 =еE4=кF8о=8Dо64==Kе де9Eт68O (=4пD8<еD, 
у6едо<ле=8е Eоот6етEт6уNI8E Eлу65 8 оD74=о6, 6Kд686е=8е E8л оED4=K длO =е9тD4л874F88 
=4DуH8телO, уEтD4=е=8е =епол4док 6 D45оте 6K6еде==KE 87 EтDоO теE=8GеEк8E уEтDо9Eт6); 

Dе7улLт4т Eо6еDHе=8O (попKтк8 Eо6еDHе=8O) =еE4=кF8о=8Dо64==о7о де9Eт68O (=4пD8<еD, 
пDеEеGе=4 попKтк4 E8Iе=8O � �, д86еDE88, 6K6еде=о 87 EтDоO EDедEт6о о5=4Dу6е=8O, =4DуHе=4 
FелоEт=оEтL о7D46де=8O =4 пеD8<етDе); 

6K6одK по Dе7улLт4т4< D4EEледо64=8O пD8G8= =еE4=кF8о=8Dо64==о7о де9Eт68O, пеDеGе=L 
<еD длO 8EклNGе=8O 6о7<о6=оEте9 по6тоD=о7о Eо6еDHе=8O =еE4=кF8о=8Dо64==KE де9Eт689; 

D4ктK о5=4Dу6е=8O =4 теDD8тоD88 D4д84F8о==KE о5Jекто6 пDоп46H8E, поE8Iе==KE 8л8 
5еEEо7O9=KE  �,  �. 
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�К& 

� ���К� КО��Л�К!� ������ �О-&�%��'�!К�% ! ��!&� 

$���'�!КО� ��)�&+ 

 

1. $оD<у �кт4 пD8е<к8 ко<плекE4 8=6е=еD=о-теE=8GеEк8E EDедEт6 $� (д4лее - �кт) =4 
D4д84F8о==KE о5Jект4E оD74=874F88 Dеко<е=дуетEO D47D454тK64тL 6 Eоот6етEт688 E 
тDе5о64=8O<8 оD74=4 упD46ле=8O 8EполL7о64=8е< 4то<=о9 M=еD788, 6 6еде=88 котоDо7о 



=4Eод8тEO оD74=874F8O. 

2. � EодеD64=8е �кт4 Dеко<е=дуетEO 6клNG4тL EледуNIуN 8=DоD<4F8N о: 

=48<е=о64=88 оD74=874F88, 6 EоEт46е котоDо9 8<еNтEO D4д84F8о==Kе о5JектK, 8 
=48<е=о64=8е D4д84F8о==о7о о5Jект4, котоDK9 о5оDудуетEO ко<плекEо< 8=6е=еD=о-

теE=8GеEк8E EDедEт6 $�; 

7е=подDOд=о9 оD74=874F88 (=48<е=о64=8е, E6еде=8O о 7оEуд4DEт6е==о9 Dе78EтD4F88, 
8<еNI8еEO л8Fе=788 8 дD.); 

оE=о64=88 длO пDо6еде=8O <о=т46=KE 8 пуEко=4л4доG=KE D45от (=4пD8<еD, Dек6878тK 
до7о6оD4); 

D4кт8GеEк8E EDок4E пDо6еде=8O D45от; 

пDо6еде=88 опKт=о9 MкEплу4т4F88, 4 т4к6е пD8е<оG=KE 8EпKт4=89, 6 то< G8Eле о 
6KO6ле==KE =е8EпD46=оEтOE; 

E4D4ктеD8Eт8к4E 8 пок474телOE пDедJO6лOе<о9 к пD8е<ке E8Eте<K; 

E6еде=8OE о5 уEтD4=е=88 =едоEт4тко6, 6KO6ле==KE D45оG8<8 ко<8EE8O<8; 

E6еде=8OE о Eто8<оEт8 оE=о6=KE Dо=до6 8 D45от по <о=т46у 8 пуEко=4л4дке. 

3. � �кт Dеко<е=дуетEO 6клNG4тL DеHе=8е ко<8EE88 о пD8е<ке пDедJO6ле==о9 к пD8е<ке 
74к47G8ко< E8Eте<K. 

4. � пD8ло6е=8е к �кту Dеко<е=дуетEO 6клNG4тL 4ктK D45оG8E 7Dупп 8 ко<8EE89, 
оEуIеEт6лO6H8E D45отK по пDо6еDке 8 пD8е<ке отделL=KE подE8Eте< !$�. 
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�Л�� 

� О�� ОК &�%��'�!КО�О !О!&О/��/ �  ��О&О!�О!О��О!&� 

������ �О-&�%��'�!К�% ! ��!&� $���'�!КО� ��)�&+ 

 

1. $оD<у пл4=4 пDо6еDок теE=8GеEко7о EоEтоO=8O 8 D45отоEпоEо5=оEт8 ко<плекE4 
8=6е=еD=о-теE=8GеEк8E EDедEт6 $� (д4лее - �л4=) =4 D4д84F8о==KE о5Jект4E оD74=874F88 
Dеко<е=дуетEO D47D454тK64тL 6 Eоот6етEт688 E тDе5о64=8O<8 оD74=4 упD46ле=8O 8EполL7о64=8е< 



4то<=о9 M=еD788, 6 6еде=88 котоDо7о =4Eод8тEO оD74=874F8O. 

2. � EодеD64=8е �л4=4 Dеко<е=дуетEO 6 т45л8G=о< 68де 6клNG8тL EледуNIуN 
8=DоD<4F8N: 

=48<е=о64=8е пDо6еDOе<о7о 8=6е=еD=о7о 8л8 теE=8GеEко7о EDедEт64 $� =4 D4д84F8о==о< 
о5Jекте; 

74пл4=8Dо64==уN д4ту пDо6еде=8O пDо6еDк8 EоEтоO=8O 8=6е=еD=о7о 8л8 теE=8GеEко7о 
EDедEт64 $� =4 D4д84F8о==о< о5Jекте; 

D4<8л8N, 8<O, отGеEт6о л8F4, от6етEт6е==о7о 74 пDо6еде=8е пDо6еDк8 EоEтоO=8O 
8=6е=еD=о7о 8л8 теE=8GеEко7о EDедEт64 $� =4 D4д84F8о==о< о5Jекте; 

д4ту D4кт8GеEко7о пDо6еде=8O пDо6еDк8 EоEтоO=8O 8=6е=еD=о7о 8л8 теE=8GеEко7о EDедEт64 
$� =4 D4д84F8о==о< о5Jекте; 

Dе7улLт4тK пDо6еDк8 8 пD8=OтKе по =8< <еDK; 

подп8EL л8F4, пDо6од86Hе7о пDо6еDку EоEтоO=8O 8=6е=еD=о7о 8л8 теE=8GеEко7о EDедEт64 
$� =4 D4д84F8о==о< о5Jекте. 

3. � �л4=е Dеко<е=дуетEO пDедуE<отDетL пеDеGе=L 8=DоD<4F88, =ео5Eод8<о9 длO 
EоEт46ле=8O отGет4 о EлуG4OE о5=4Dу6е=8O =е8EпD46=KE 8л8 =еD45отоEпоEо5=KE EDедEт6 $� E 
ук474=8е< 6о7<о6=KE пD8G8=, пD86едH8E к 6о7=8к=о6е=8N =е8EпD46=оEт8, де9Eт689 по ее 
уEтD4=е=8N 8 пD8=Oт8N ко<пе=E8DуNI8E <еD. 
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&�%��'�!КО�О О�!Л'������/ ������ �О-&�%��'�!К�% ! ��!&� 

$���'�!КО� ��)�&+ 

 

1. $оD<у пл4=4-7D4D8к4 теE=8GеEко7о о5Eлу6864=8O 8=6е=еD=о-теE=8GеEк8E EDедEт6 $� 
(д4лее - �л4=-7D4D8к) =4 D4д84F8о==KE о5Jект4E оD74=874F88 Dеко<е=дуетEO D47D454тK64тL 6 
Eоот6етEт688 E тDе5о64=8O<8 оD74=4 упD46ле=8O 8EполL7о64=8е< 4то<=о9 M=еD788, 6 6еде=88 
котоDо7о =4Eод8тEO оD74=874F8O. 

2. �л4=-7D4D8к Dеко<е=дуетEO D47D454тK64тL =4 7од 8 ут6еD6д4тL DеHе=8е< Dуко6од8телO 



оD74=874F88 8л8 л8F4, 8< упол=о<оGе==о7о, 4 пD8 =4л8G88 Eлу65K 5е7оп4E=оEт8 - ут6еD6д4тL 
DеHе=8е< Dуко6од8телO Eлу65K 5е7оп4E=оEт8. 

3. � EодеD64=8е �л4=4-7D4D8к4 Dеко<е=дуетEO 6клNG4тL 8=DоD<4F8N о пл4=4E пDо6еде=8O 
D45от по теE=8GеEко<у о5Eлу6864=8N D47делL=о по к46до<у 68ду (7Dупп4< о5D47Fо6 к46до7о 
68д4) теE=8GеEк8E EDедEт6 $�, 6клNG4O пDо6еDку EDедEт6: 

оED4==о9 E87=4л874F88; 

тDе6о6=о-6K7K6=о9 E87=4л874F88; 

=45лNде=8O (опт8ко-MлектDо==ое, D4д8олок4F8о==ое 8л8 оE=о64==KE =4 дDу78E 
теE=8GеEк8E пD8=F8п4E); 

ко=тDолO 8 упD46ле=8O доEтупо<; 

опеD4т86=о9 E6O78 8 опо6еIе=8O; 

74I8тK 8=DоD<4F88; 

о5еEпеGе=8O MлектDоп8т4=8O, оE6еIе=8O. 

4. � �л4=-7D4D8к Dеко<е=дуетEO 6клNG4тL: 

пеDеGе=L D45от; 

пеD8од8G=оEтL 6Kпол=е=8O D45от; 

оE=о64=8е длO 6Kпол=е=8O; 

G4Eт8G=ое оп8E4=8е тDе5о64=89 к 6Kпол=е=8N D45от длO к46до7о Mле<е=т4 $� 
(=48<е=о64=8е о5оDудо64=8O, длO котоDо7о DоD<8DуетEO Dе7л4<е=т 8 =о<еD 6 E8Eте<е 
MкEплу4т4F8о==о9 доку<е=т4F88); 

оE=о64=8е длO тDе5о64=8O к 6Kпол=е=8N D45от. 
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1. $оD<у доку<е=т4, опDеделONIе7о пеDеGе=L 8 7D4=8FK �О�, Dеко<е=дуетEO 
D47D454тK64тL 6 Eоот6етEт688 E тDе5о64=8O<8 оD74=4 упD46ле=8O 8EполL7о64=8е< 4то<=о9 
M=еD788, 6 6еде=88 котоDо7о =4Eод8тEO оD74=874F8O. 

2. � EодеD64=88 доку<е=т4, опDеделONIе7о пеDеGе=L 8 7D4=8FK �О�, Dеко<е=дуетEO 
ук474тL 7д4=8O, EооDу6е=8O 8 по<еIе=8O (плоI4дк8), котоDK< Dеко<е=дуетEO пD8E6о8тL 
Eоот6етEт6уNI8е =48<е=о64=8O, =о<еD4 8 о5о7=4Gе=8O 8 6 котоDKE оEуIеEт6лONтEO D45отK E  �, 
Я�, уG8тK64е<Kе 6 !�'К  � 8  �О,  �. 

3. �лO к46до7о D4д84F8о==о7о о5Jект4, =4EодOIе7оEO =4 теDD8тоD88 �О�, Dеко<е=дуетEO 
ук47K64тL к4те7оD8N по D4д84F8о==о9 оп4E=оEт8 8 уDо6е=L $�. 

4. � EоEт46 доку<е=т4, опDеделONIе7о пеDеGе=L 8 7D4=8FK �О�, Dеко<е=дуетEO 6клNG4тL 
7D4D8GеEкое пD8ло6е=8е E ук474=8е< D4Eполо6е=8O �О�. 
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1. � оD74=874F88 поло6е=8е о Eлу65е 5е7оп4E=оEт8 Dеко<е=дуетEO D47D454тK64тL к4к 
отделL=K9 доку<е=т, Dе7л4<е=т8DуNI89 Dу=кF8о=4лL=ое =47=4Gе=8е, поDOдок подG8=е=8O 8 
оD74=874F8N Eлу65K 5е7оп4E=оEт8 к4к 6Kделе==о7о EтDуктуD=о7о подD47деле=8O 6 Hт4т=о9 
EтDуктуDе оD74=874F88, 6Kпол=ONIе7о Dу=кF88 по оD74=874F88 8 о5еEпеGе=8N $�  �, Я� 6 !�'К 
 � 8  �О,  � 8 �% =4 D4д84F8о==KE о5Jект4E. 

2.  еко<е=дуетEO 6клNG4тL 6 �оло6е=8е о Eлу65е 5е7оп4E=оEт8 EледуNI8е D47делK: 

"О5I8е поло6е=8O"; 

"ОE=о6=Kе 74д4G8 Eлу65K 5е7оп4E=оEт8"; 

"ОE=о6=Kе Dу=кF88 Eлу65K 5е7оп4E=оEт8"; 

"!тDуктуD4 Eлу65K 5е7оп4E=оEт8"; 

"О5еEпеGе=8е Dу=кF8о=8Dо64=8O Eлу65K 5е7оп4E=оEт8". 

3. � D47деле "О5I8е поло6е=8O" Dеко<е=дуетEO ук474тL, Gто Eлу654 5е7оп4E=оEт8: 



O6лOетEO 6Kделе==K< EпеF84лL=K< EтDуктуD=K< подD47деле=8е< оD74=874F88, 
пDед=47=4Gе==K< длO оD74=874F88 8 ко=тDолO 74 6Kпол=е=8е< <еDопD8Oт89 по оEуIеEт6ле=8N 
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